PREPARING FOR THE LSAT

Most law school applicants familiarize themselves with test di-
rections and question types, practice on sample tests, and
study the information available on test-taking techniques and
strategies. Although it is difficult to say when you are suffi-
ciently prepared for the LSAT, very few people achieve their
full potential without some preparation. You should be so fa-
miliar with the instructions and question types that nothing
you see on the test can delay or distract you from thinking
about how to answer a question. At a minimum, you should
review the descriptions of the question types (below) and sim-
ulate the day of the test by taking, under actual time
constraints, a practice test that includes a writing sample. Tak-
ing a practice test under timed conditions helps you to
estimate the amount of time you can afford to spend on each
question in a section and to determine the question types for
which you may need additional practice.

THE THREE LSAT MULTIPLE-CHOICE

The five multiple-choice sections of the test contain three dif-
ferent question types. The following pages present a general
discussion of the nature of each question type and some strate-
gies that can be used in answering them. Directions for each
question type, sample questions, and a o||scu55|3 f the an-
swers are also included. When possible, expl s of the
sample questions indicate their comparative level af ifficulty.

Next, the writing sample is descnbeg‘l |r’f5|ud|2!§|rdct|ons
and example prompts.

The following descriptive materf reflect the gBheral na-
ture of the test. It is not posmblg_p practical to cover the full
range of variation that ma found i upsf:llons on the LSAT.
Be aware that materlakm} ppear in test that is not de-
scribedhin theidiscussi @uestion ty es found here. For
additior% tice, yo can L+rchase any of the many LSAT
prepagétion boeks listed i ad in this book.

s ¥

ESTION TYPES

READING COMPREHENSION QUESTIONS

Both law school and the practice of law revolve around extensive
reading of highly varied, dense, argumentative, and expo
texts (for example, cases, codes, contracts, briefs, decisiong, evi
dence). This reading must be exacting, d|st|ngU|sh|n® ely’
what is said from what is not said. It involves comp!'rjon, naly-
sis, synthesis, and application (for example, of principles and
rules). It involves drawing appropriate inferences and applying
ideas and arguments to new contexts. Law‘simol reading also
requires the ability to grasp unfamiliar8ubject'matter and the
ability to penetrate difficult and challen§ing ma’ferlal

The purpose of LSAT Reading Compr hensgﬂ questions is to
measure the ability to read, with nderstanc‘n and insight,
examples of lengthy and co materials similar to those
common|yencountered,in law dghool. The Reading Comprehen-

sion section.ofthe LSAT contains ets of reading questions,
each set @bnsisting of a selection @f reading material followed by
five to eight questions. The reading seléction in three of the four

sets consists of a single reading pdssage; the other set contains
two related shortempassages. Sets with two passages are a

variant of Realing«€omprehensign called Comparative Reading,
which was introguced in June 20
ComparativefReading questigns concern the relationships

between the twlo passages, such as those of generalization/
instance, princi application, or point/counterpoint. Law
school work oft%.re uires reading two or more texts in
conjunction with ea other and understanding their relation-
ships. For example, a law student may read a trial court
decision together with an appellate court decision that over-
turns it, or identify the fact pattern from a hypothetical suit
together with the potentially controlling case law.
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Reading ctions for LSAT Reading Comprehension questions
are drawn fri@m a wideglange of subjects in the humanities, the so-
cial sciences, gical and physical sciences, and areas
related to tHe law. Generally, the selections are densely written,
use high-level vocabulary, and contain sophisticated argument or
complex rhetorical structure (for example, multiple points of view).
Reading Comprehension questions require you to read carefully
and accurately, to determine the relationships among the various
parts of the reading selection, and to draw reasonable inferences
from the material in the selection. The questions may ask about
the following characteristics of a passage or pair of passages:

e The main idea or primary purpose
e Information that is explicitly stated

Information or ideas that can be inferred

The meaning or purpose of words or phrases as used in context

The organization or structure

The application of information in the selection to a new context

Principles that function in the selection

Analogies to claims or arguments in the selection

An author’s attitude as revealed in the tone of a passage or
the language used

The impact of new information on claims or arguments in
the selection



Suggested Approach

Since reading selections are drawn from many different disci-
plines and sources, you should not be discouraged if you
encounter material with which you are not familiar. It is impor-
tant to remember that questions are to be answered
exclusively on the basis of the information provided in the se-
lection. There is no particular knowledge that you are
expected to bring to the test, and you should not make infer-
ences based on any prior knowledge of a subject that you
may have. You may, however, wish to defer working on a set of
questions that seems particularly difficult or unfamiliar until af-
ter you have dealt with sets you find easier.

Strategies. One question that often arises in connection
with Reading Comprehension has to do with the most effec-
tive and efficient order in which to read the selections and
questions. Possible approaches include:

e reading the selection very closely and then answering the
questions;

e reading the questions first, reading the selection closely,
and then returning to the questions; or

e skimming the selection and questions very quickly, then re-
reading the selection closely and answering the questions.

Test takers are different, and the best strategy for one milig
not be the best strategy for another. In preparing for the,te
therefore, you might want to experiment with the e}vt
strategies and decide what works most effectively for Jou

Remember that your strategy must be effectiv der timed
conditions. For this reason, the first strategy—reading the se-
lection very closely and then ansvvering i uestions—may
be the most effective for you. Nonethiele ﬁf you believe that
one of the other strategies might bel ie &ffective for you,
you should try it out and assess your perfornfance using it.

Reading the selection. Whatever strategy'you choose, you
should give the passage or pairlof passages at least one care-
ful reading befor answerln\g questions. Try to distinguish
main |deas‘From supporting ideaspand opinions or attitudes
from facty@l, objective informat te transitions from one
idea to the next and identify the felationships among the dif-
ferent ideas or parts of a passage, or between the two
passages in Gomparative Reading sets. Consider how and
why an authommakes points and draws conclusions. Be sensi-
tive to implications of what the passages say.

You may find it helpful to mark key parts of passages. For
example, you might underline main ideas or important argu-
ments, and you might circle transitional words—"although,”
“nevertheless,” “correspondingly,” and the like—that will
help you map the structure of a passage. Also, you might
note descriptive words that will help you identify an author’s
attitude toward a particular idea or person.
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e Always read all the answer choices before' se%g the best
answer. The best answer choice is he one th st accu-

rately and completely answers t)rqu,es‘uon beTrP"ioosed.

Answering the Questions

e Respond to the speuflc quesrc;n bein agked Do not pick
an answer choice si pl hecause |t? s a.true statement. For
example, picking a truelstatement miht yield an incorrect
answer to gqtues‘uo in whi i you are asked to identify an
auth r?po ion on an |ssuc since you are not being asked

Valuate#he truth of the author’s position but only to

orrectly identify what that position is.

Answellithe guestions only on the basis of the information

providad injthe selection. Your own views, interpretations,
or opinibng, and those you have heard from others, may
sometim

conflictwith those expressed in a reading selec-
tion; how Ol{a‘:e expected to work within the context
providedfby the reading selection. You should not expect
to agree With everything you encounter in reading compre-
hensior}_passages.



Fourteen Sample Reading Comprehension Questions and Explanations

The sample questions on the following pages are typical of the Reading Comprehension questions you will find on the LSAT.
Three single-passage Reading Comprehension passages are included, but they are followed by only two or three sample ques-
tions each, whereas each passage in the actual LSAT is followed by five to eight questions. However, the Comparative Reading set
below includes seven questions and explanations for test preparation purposes.

Directions: Each set of questions in this sect|on is based on a single passage or a pair of passages. The questlo'n re to be
answered on the basis of what is stated or implied in the passage or pair of passages. For some of the ques‘t ore than

one of the choices could conceivably answer the question. However, you are to choose the best answer; that

sponse
that most accurately and completely answers the question, and blacken the corresponding space on our amsw X:e]

Passage for Questions 1, 2, and 3

The painter Roy Lichtenstein helped to define pop
art—the movement that incorporated commonplace
objects and commercial-art techniques into paintings—
by paraphrasing the style of comic books in his work.

(5) His merger of a popular genre with the forms and
intentions of fine art generated a complex result: while
poking fun at the pretensions of the art world,
Lichtenstein’s work also managed to convey a
seriousness of theme that enabled it to transcend mere

(10) parody.

That Lichtenstein’s images were fine art was at
first difficult to see, because, with their word balloons
and highly stylized figures, they looked like nothing
more than the comic book panels from which they4fer

(15) copied. Standard art history holds that pop art emerge
as an impersonal alternative to the histrionic i
abstract expressmmsm, a movement in Wh|§ ers
conveyed their private attitudes and emoti J using
nonrepresentational techniques. The truffis that by the

(20) time pop art first appeared in the e r 1960s, abstract
expressionism had already lost muci its force. Pop
art painters weren't quarreling w, efdewerful early
abstract expressionist work of thé late §240s but with a
second generation of abstfact exprebfs nists whose

(25) work seemed airy, highsminded, and overly lyrical.
Pop art paigtings Wereqn f simple black lines and
large areas'of primary color. lightenstein’s work was
part @f a general rebelliong@ainst the fading emotional
power of abstract expressiofiism Yrather than an aloof

(30) attempt to ignore it.

But ifirebellion against pfevious art by means of

the careful imitation of a pppular genre were all that
characterized Lichtenstein§ work, it would possess
only the réflective power that parodies have in relation

(35) to their suBjects. Beneathfits cartoonish methods, his
work displayed an |mpulse toward realism, an urge to
say that what was missing from contemporary painting
was the deplct n of contemporary life. The stilted
romances and War stories portrayed in the comic books

(40) on which he based his canvases, the stylized
automobiles, hot dogs, and table lamps that appeared in
his pictures, were reflections of the culture Lichtenstein
inhabited. But, in contrast to some pop art,
Lichtenstein’s work exuded not a jaded cynicism about

(45) consumer culture, but a kind dellberate hrete
intended as a response to th excess of sophistication
he observed not only in th&ater ir ct expressionists
but in some othe{p IIar‘usts \/\/fh the comics—
typlcally the domain®f youth and finocence—as his

(50) re ﬂ)oint, ostalgia fills his paintings that gives

rr'ﬂfo || their surfacd bravado, an inner sweetness.
is persrs'f nt use of c};n’nc art conventions

emonstrates a faith i reconciliation, not only between
cartoons afid fine art, but between parody and true

Which one o
toward Lichitenstein’s work?

.o’o'wing best captures the author’s attitude

(A) enthusiasm for its more rebellious aspects

(B) respect for its successful parody of youth and
innocence

(C) pleasure in its blatant rejection of abstract
expressionism

(D) admiration for its subtle critique of contemporary
culture

(E) appreciation for its ability to incorporate both
realism and naivete

Explanation for Question 1

This question requires the test taker to understand the attitude
the author of the passage displays toward Lichtenstein’s work.
The correct response is (E). Response (E) most accurately and
completely captures the author’s attitude. First, the author’s
appreciation for Lichtenstein’s art is indicated by way of con-
trast with the way in which the author describes what
Lichtenstein’s art is not. For example, the author asserts that
Lichtenstein’s work “transcended mere parody,” and that unlike
other pop art, it did not display a “jaded cynicism.” Similarly,
the author holds that there is more to Lichtenstein’s work than
“the reflective power that parodies possess in relation to their
subjects.” Moreover, the author’s appreciation is reflected in
several positive statements regarding Lichtenstein’s work. The
author’s appreciation for Lichtenstein’s realism is indicated by
the author's statement that “Beneath its cartoonish methods,
his work displayed an impulse toward realism, an urge to say
that what was missing from contemporary painting was the de-



piction of contemporary life.” That the author also appreciates
Lichtenstein’s naivete is demonstrated in this sentence:
“Lichtenstein’s work exuded not a jaded cynicism about con-
sumer culture, but a kind of deliberate naivete....” This idea is
further expanded in the next sentence, which says that “for all
their surface bravado,” Lichtenstein’s paintings possess “an in-
ner sweetness.” It is important to note that these evaluations
appear in the last paragraph and form part of the author's con-
clusion about the importance of Lichtenstein’s art.

Response (A) is incorrect because, although in the last
sentence of paragraph two the author notes Lichtenstein’s
connection to a general rebellion against abstract expression-
ism, the author also states quite pointedly in the first sentence
of paragraph three: “But if rebellion . . . were all that charac-
terized Lichtenstein’s work, it would possess only the reflective
power that parodies have....”

Response (B) is incorrect because, as noted in the first para-
graph of the passage, the author believes Lichtenstein’s work
transcended “mere parody.” Moreover, the author states in
the last paragraph that comics, “typically the domain of youth
and innocence,” were Lichtenstein’s “reference point” and
filled his painting with “nostalgia” and an “inner sweetness.”

Response (C) is incorrect because, as mentioned above, the
author believes Lichtenstein’s rebellion against abstract ex-
pressionism was not the most important aspect of his work.
Indeed, if it had been, Lichtenstein’s work would have been
reduced to having “only the reflective power that parodies
have in relation to their subjects,” where here the “subj.‘t"
refers to abstract expressionism.

Response (D) is incorrect because the author ver*%ly 4
says that Lichtenstein embraced contemporary gultureéf In the
last paragraph, the author writes, “But, in contri}‘o some
pop art, Lichtenstein’s work exuded not a jad&@ cynicism
about consumer culture, but a kind of deliberate naivete....”

Based on the number of test takersawh iswered this
question correctly when it appeared qff the® SAT, this was a
middle difficulty question. I{ i,.-

)
L '

The auth?)Wlikely lists some“ef the themes and objects
influencing and appearing in Lichtenstein's paintings (lines
38-43) primarily to

Question 2

(A) show that thegpaintings depict aspects of
contemporary life

(B) support the claim that Lichtenstein’s work was
parodicfin intent

(C) contrast Lichtenstein's'approach to art with that of

abstract ressionism

(D) suggest thimotions that lie at the heart of
Lichtenstem’f/ork

(E) endorse Lichtenstein's attitude toward consumer

culture

Explanation for Question 2

This question requires the test taker to identify from the con-
text what the author is trying to accomplish by listing some of
the themes and objects that influenced and appeared in
Lichtenstein’s paintings.

The correct response is (A). First, as the author notes in the
same sentence, the listed themes and objectsy”were reflec-
tions of the culture Lichtenstein inhabited# Moreover, as the
author argues in the sentence that precede§ thedist,
Lichtenstein’s work displayed “an impulsestowardifealism, an
urge to say that what was missing fﬁ)r}fconte ordry paint-
ing was the depiction of contempgrary life.”  *=

Response (B) is incorrect becau the author ddes not claim
that Lichtenstein’s work was par®dic in intgn}c. On the con-
trary, the author states in biopening{)aragraph that
Lichtenstein’s work tra cqngag “mere Parody.”

Response (C) is incorect because the author's comparison

HECh nstein’s apprdeich to art and that of the ab-
expressi® ists—whifl.,wi located in paragraph

tists’ use of “simple black lines and large

" "airy” and

ork. This comparison does not involve the
nd objects mentioned in question 2. The list is

offered instfad as parg of the author's argument in paragraph

three that there g&e to Lichtenstein’s work than its rebel-

i bstract expressionism.

(D) is incorrect because, although the listed

themes and objects “were reflections of the culture

Lichtenstdin inhabited,” the list by itself does not suggest

anything about the emotions that lie at the heart of

Lichtenstein’s work. The emotions in Lichtenstein’s work

were revealed in Lichtenstein’s treatment of those themes and

objects, which “exuded not a jaded cynicism about consumer

culture, but a kind of deliberate naivete ...” The author goes

on to assert that it is Lichtenstein’s use of conventions of

comic art that gives his art its “inner sweetness” and demon-

strates his faith in the possibility of reconciliation between

"parody and true feeling.”

Response (E) is incorrect because the list of themes and ob-
jects does not in itself explain Lichtenstein’s attitude toward
consumer culture. Instead, it is how he dealt with these ob-
jects and themes that shows, according to the author, that
Lichtenstein did not exude the “jaded cynicism” of other
pop artists.

Based on the number of test takers who answered this
question correctly when it appeared on the LSAT, this was an
easy question.




Question 3

The primary purpose of the passage is most likely to

A)  express curiosity about an artist’s work

B) clarify the motivation behind an artist’s work

C) contrast two opposing theories about an artist’s work
D) describe the evolution of an artist’s work

E) refute a previous overestimation of an artist’s work

Explanation for Question 3

This question requires the test taker to look at the passage as a
whole and determine the author’s primary purpose in writing it.

Response (B) is the correct response because it most accu-
rately and completely reflects the purpose of the passage as a
whole. In the first two paragraphs of the passage, the author
uses phrases that are suggestive of Lichtenstein’s motivations,
such as “poking fun at the pretensions of the art world,” and
"rebellling] against the fading emotional power of abstract ex-
pressionism.” Then, in the third paragraph, the author makes
clear that Lichtenstein also had a more serious aim that tran-
scended these two—namely, that of depicting contemporary
life with a “kind of deliberate naivete.” As the author puts it in
the final sentence, Lichtenstein’s paintings demonstrated his
“faith in reconciliation . . . between parody and true feeling.”

Response (A) is incorrect because the passage does not
simply express curiosity about Lichtenstein’s work. Inst
the passage advances a thesis about the |mportance
Lichtenstein’s work as art.

Response (C) is incorrect because nowhere in We P
are two opposing theories discussed.

Response (D) is incorrect because the passaﬁ@ does not
cover the evolution of Lichtenstein’s wor e author makes
no mention of when any of the partieular tmgs were cre-
ated in the course of Lichtenstein’s c bh!qnstead treats
the work as a unified whole. _

Response (E) is incorrect becduse a pre
of Lichtenstein’s work is neit er ent|one\§ nor alluded to. If
the passage hadsan aim of ind, it would seem to be the
reverse, as‘ha..a‘ﬁthor clearly thm that Lichtenstein's work is
valuable ghd has perhaps beenfiihdegestimated by those who
see pop art as primarily parodic if§ intant.

Based on the number of test tgkers who answered this
question correctlyawhen it appedred on the LSAT, this was an

easy questions.
Passage for Questions 4 an}S

The follow

s overest|mat|on

passage Was written in the late 1980s.

The struggl o obtain legal recognition of
aboriginal rights is a difficult one, and even if a right
is written into the law there is no guarantee that the
future will not bring changes to the law that

(5) undermine the right. For this reason, the federal
government of Canada in 1982 extended
constitutional protection to those aboriginal rights

already recognized under the law. This protection was
extended to the Indian, Inuit, and Métis peoples, the

(10) three groups generally thought to comprise the
aboriginal population in Canada. But this decision has
placed on provincial courts the enormous burden of
interpreting and translating the necessarily general
constitutional language into specific rulings. The

(15) result has been inconsistent recognition qn
establishment of aboriginal rights, despi

continued efforts of aboriginal people to rll issues
concerning their rights.
Aboriginal rights in Canada%re’defme
(20) constitution as aboriginal pe es rights to~ nership

of land and its resources, thefinherent right
aboriginal societies to self‘g'overnmsnﬂ and the right
to legal recogmtlon Hfj\d|genotg customs. But

difficulties arise in g these oaolly conceived
(25) rights. R examp€ || it mlght appear
ward t

st i\ ﬁlrm leégal recognition of

dlg nod customs exact legal meaning of
" is extremely difficult to interpret. The
constitutignal protection is to recognize
anding traditional customs, not those of
igin; provincial courts therefore require
peoples to provide legal documentation
customs,they seek to protect were practiced
go—a criterion defined in practice

soverdignty over the specific territory. However, this

requirement makes it difficult for aboriginal societies,
which often relied on oral tradition rather than written
records, to support their claims.

(40) Furthermore, even if aboriginal peoples are
successful in convincing the courts that specific rights
should be recognized, it is frequently difficult to
determine exactly what these rights amount to.
Consider aboriginal land claims. Even when

(45) aboriginal ownership of specific lands is fully
established, there remains the problem of interpreting
the meaning of that “ownership.” In a 1984 case in
Ontario, an aboriginal group claimed that its property
rights should be interpreted as full ownership in the

(50) contemporary sense of private property, which allows
for the sale of the land or its resources. But the
provincial court instead ruled that the law had
previously recognized only the aboriginal right to use
the land and therefore granted property rights so

(55) minimal as to allow only the bare survival of the
community. Here, the provincial court’s ruling was
excessively conservative in its assessment of the
current law. Regrettably, it appears that this group
will not be successful unless it is able to move its

(60) case from the provincial courts into the Supreme

Court of Canada, which will be, one hopes, more

insistent upon a satisfactory application of the

constitutional reforms.



Question 4

Which one of the following most accurately states the main

point of the passage?

(A) The overly conservative rulings of Canada’s provincial
courts have been a barrier to constitutional
reforms intended to protect aboriginal rights.

The overwhelming burden placed on provincial
courts of interpreting constitutional language in
Canada has halted efforts by aboriginal peoples
to gain full ownership of land.

Constitutional language aimed at protecting
aboriginal rights in Canada has so far left the
protection of these rights uncertain due to the
difficult task of interpreting this language.

Constitutional reforms meant to protect aboriginal
rights in Canada have in fact been used by some
provincial courts to limit these rights.

(E) Efforts by aboriginal rights advocates to uphold
constitutional reforms in Canada may be more
successful if heard by the Supreme Court rather
than by the provincial courts.

(B)

Explanation for Question 4

This question requires the examinee to identify the main
point of the passage. For an answer choice to be the

point of the passage, it must do more than simply expregs ;\
claim with which the author would agree. The corre@t agéwer
choice is the one that most accurately expressegthe p8int of
the passage as a whole. i \

The correct answer choice is (C). The passad&discusses the
Canadian federal government’s 1982 degision to extend con-
stitutional protection to aboriginal rights. Ithe first
paragraph the author claims that this asiﬁﬁhas “placed on
provincial courts the enormous burdef of inferpreting and
translating the necessarily gendral constitutional language
into specific rulings” (|inesg—’l ). The res‘!of the passage de-
tails the difficulties that havé ben encountered as provincial
courts have" ptedto carry ot this task. The second para-
graph is cerned mainly with iculties involved in
interpretihg the legal meaning off “indigenous,” especially as
it relates to the recognition of indigenous customs. The third
paragraph fogusesgprimarily on @n example of the difficulties
encounteredhin an attempt to interpret the meaning of “own-
ership.” Answep choice (C) bestfcaptures the main point of the
passage as a whole. It is clear that the author thinks the pro-
inal rights is uficertain, and it is clear that the
is.due to the difficulties involved in interpret-
guage of the constitutional reforms.

Answer choice A)fincorrect. The passage does mention
one provincial court'ruling that the author feels is “excessively
conservative” (line 57). However, the author clearly intends
this to merely be one example of a problem caused by the
difficult task of interpreting the constitutional language,
rather than the main point of the passage. Moreover, even the
"excessively conservative” decision described in the last para-

graph has not been a barrier to constitutional reform. The
constitution was already reformed in 1982 to extend protec-
tion to aboriginal rights. The difficulties detailed in the
passage have arisen in legal efforts to apply the 1982
constitutional changes.

Answer choice (B) is incorrect. While this answer choice
does identify the crucial issue involving the “overwhelming
burden placed on provincial courts of interpreting constitu-
tional language,” it is incorrect inasmuch as isgfouses only on
“efforts by aboriginal peoples to gain full ounership of land.”
It's clear that the author thinks land ownership is ghly pne of
the important issues concerning_ab‘briginal righfs. The author
also discusses the right of self-go nment (Iin&22rand the
right to legal recognition of indig ous customs (fine 23).
Moreover, while the passage indfcates th%t the “excessively
conservative” decision dé‘;cjbed in tf’e last paragraph has
been a setback to one b?rlﬁ'l al groupFefforts to gain full
ownership ofiits land, if does not say that such efforts have

y the ci_siof‘."ln fact, the author suggests
in question may seek to pursue its efforts
SupremerCourt of Canada (lines 58-63).
(D) is incorrect. The author points to one ex-

ncorrect to regard this as the main point of the
author'sgooint throughout the passage as a

Jf?iculty of interpreting the general con-
stitutional l[@nguage aimed at protecting aboriginal rights, not
simply thatlsome courts have limited these rights.

Answer choice (E) is incorrect. The author does introduce
the possilfility that the Supreme Court of Canada may be
better able to uphold constitutional reforms. The author even
expresses hope that this is so. But it is inaccurate to regard
this hope as the main point of the passage, because the
Supreme Court is mentioned only in connection with one
specific court case. It is not central to the author's discussion.

Based on the number of test takers who answered this
question correctly when it appeared on the LSAT, this was an
easy question.

Question 5

The passage provides evidence to suggest that the author
would be most likely to assent to which one of the following
proposals?

Aboriginal peoples in Canada should not be
answerable to the federal laws of Canada.

Oral tradition should sometimes be considered legal
documentation of certain indigenous customs.

Aboriginal communities should be granted full
protection of all of their customs.

Provincial courts should be given no authority to
decide cases involving questions of aboriginal rights.

(E) The language of the Canadian constitution should

more carefully delineate the instances to which

reforms apply.



Explanation for Question 5

This question requires the examinee to use evidence from the
passage to infer what the author would be most likely to be-
lieve. The question is not simply to identify something that
the author states explicitly. Rather, the test taker must identify
what can reasonably be inferred from what the author says.

The correct answer choice is (B). In the second paragraph
the author discusses the aboriginal right to the legal recogni-
tion of indigenous customs. It is clear from the tenor of the
discussion in the passage that the author believes that this
right should be protected, but the author notes that there
have been difficulties in securing this protection. According to
the author, provincial courts have required legal documenta-
tion as evidence that a custom is long-standing. As the author
points out, however, this requirement is difficult to meet for
aboriginal societies, “which often relied on oral tradition
rather than written records” (lines 38-39). Given that the au-
thor believes that aboriginal customs should receive legal
recognition, and given that the author regards the require-
ment of written documentation as an impediment to such
recognition in many cases, it can be inferred that the author
would be likely to assent to the statement that oral tradition
should sometimes be considered legal documentation for
certain indigenous customs.

Answer choice (A) is incorrect. While the author clearly feels
that aboriginal rights should be protected, that is a far cry
from thinking that aboriginal peoples should not be an*r
able to federal laws. More importantly, the author’s argu e‘\
in favor of the legal recognition of aboriginal rightsfiandiialso
the presumption that problems should be resolyed, in the Ca-
nadian courts, suggest that the author probablyt ieves that
aboriginal peoples should be answerable to Cahadian laws.

Answer choice (C) is incorrect. The mai int of the pas-
sage as a whole is that there are dlfflwltlngolved in
interpreting the language of the constitutiofal protection of
aboriginal rights. Importantly, the autg}tr clegply agrees with
the intentions of the constitutidnal protectioh. In discussing
the legal recognition of abor | al customs, the author claims
that the ” |ntent f the cons* nal protection is to recog-
nize only‘i anding traditional.customs, not those of
recent origin” (lines 29-31). Sinc&thelauthor never questions
this inten there is no reason to think that the author would
agree that aboriginal peoples shbuld be granted full
protection offall ofitheir customg’

Answer choice (D) is incorrecti The author asserts that pro-
vincial courts have been placedjin the difficult position of
interpreting general constitutiopal language. This assertion
takes it for grafted that the pr@vincial courts are the correct
venue for the in retation.and application of the constitu-
tional reforms. (Ifthe author believed otherwise, it would be
incumbent on him er to say as much, rather than simply
observing that the provincial courts are in a difficult position.)
Furthermore, the passage does not provide any other evi-
dence that the author thinks that provincial courts should be
eliminated from the process, or be stripped of their authority
concerning issues of aboriginal rights.

Answer choice (E) is incorrect. The author’s main point is
that there are difficulties inherent in interpreting the language
involved in the constitutional protection of aboriginal rights in
Canada. Tellingly, however, the author describes the relevant
constitutional language as "necessarily general” (line 13), and
there is no evidence to suggest that the author believes that
the language of the Canadian constitution should be revised
or rewritten.

Based on the number of test takers who* ged this
question correctly when it appeared on the “i is was a
difficult question.

Passage for Questions 6 and 7

In economics, the term *8pec ati/e-lbubble
refers to a large upvﬁrd‘move |ntn asset’s price
driven not by the \L%?dame |s—that is, by
th&ear ngs deri? ? the asset—but rather by

ulatlon at sdrheone else will be willing to
ay a h|gh r price for he price increase is then

ollowed by a drama‘uc decline in price, due to a loss
in confidence that the price will continue to rise, and

the fbubhle” is said to have burst. According to
Charles Mackay's classic nineteenth-century account,
the s@vaiteenth-century Dutch tulip market provides
an ex ple of a gpeculative bubble. But the

econo etgf Garber challenges Mackay's view,
arguin@ that there is no evidence that the Dutch tulip

(15

market really involved a speculative bubble.

By the seventeenth century, the Netherlands had
becde a center of cultivation and development of
new tulip varieties, and a market had developed in
which rare varieties of bulbs sold at high prices. For
example, a Semper Augustus bulb sold in 1625 for an
amount of gold worth about U.S. $11,000 in 1999.
Common bulb varieties, on the other hand, sold for
very low prices. According to Mackay, by 1636 rapid
price rises attracted speculators, and prices of many
varieties surged upward from November 1636 through
January 1637. Mackay further states that in February
1637 prices suddenly collapsed; bulbs could not be
sold at 10 percent of their peak values. By 1739, the
prices of all the most prized kinds of bulbs had fallen
to no more than one two-hundredth of 1 percent of
Semper Augustus’s peak price.

Garber acknowledges that bulb prices increased
dramatically from 1636 to 1637 and eventually
reached very low levels. But he argues that this
episode should not be described as a speculative
bubble, for the increase and eventual decline in bulb
prices can be explained in terms of the fundamentals.
Garber argues that a standard pricing pattern occurs
for new varieties of flowers. When a particularly
prized variety is developed, its original bulb sells for
a high price. Thus, the dramatic rise in the price of
some original tulip bulbs could have resulted as tulips
in general, and certain varieties in particular, became
fashionable. However, as the prized bulbs become

(20)

(25)



(45) more readily available through reproduction from the
original bulb, their price falls rapidly; after less than
30 years, bulbs sell at reproduction cost. But this
does not mean that the high prices of original bulbs
are irrational, for earnings derivable from the millions
of bulbs descendant from the original bulbs can be
very high, even if each individual descendant bulb
commands a very low price. Given that an original
bulb can generate a reasonable return on investment
even if the price of descendant bulbs decreases
dramatically, a rapid rise and eventual fall of tulip bulb
prices need not indicate a speculative bubble.

(55)

Question 6

The phrase “standard pricing pattern” as used in line 38 most
nearly means a pricing pattern

against which other pricing patterns are to be measured
that conforms to a commonly agreed-upon criterion
that is merely acceptable

that regularly recurs in certain types of cases

that serves as an exemplar

ooz

Explanation for Question 6

This question requires the test taker to understand from con-
text the meaning of the phrase “standard pricing patte*
which is used by the author in a particular way.

The correct answer choice is (D). The phrase occ
third paragraph of the passage. The purpose of this pa raph
is to detail Garber’s reasons for thinking that, con
Mackay’s view, the seventeenth-century Dutch Tlip market did
not involve a speculative bubble. It is in tgs ontext that the

author uses the phrase in question. Thie ¢ lete sentence
reads, “Garber argues that a standard grieing pattern occurs
for new varieties of flowers.” The auth
dard pricing pattern: original b
initially command a high pric
the original bulbs cost dra lly less over time. It is clear
that the 3uth kes Garber to escribing a regularly recur-
ring pattegh about the pricing ofew varieties of flowers, and
then assefting that the particular @etailg about the pricing of tu-
lip bulbs inthe seventeenth centdry fit this recurring pattern.
Thus, answerghoice (D) is correct; since it paraphrases the use

of the term "“standard pricing jtem asa prlcmg pattern

“that regularly r curs in certain types of cases.”
Answer choi ) is incorrectf Nowhere does the author
suggest that p |ng patterns gan or should be “measured”

thenfexplains this stan-
s for prized’new varieties
t descendants produced from

against one an r, much less against a pricing pattern that
is for some reasof taken to be the benchmark.

Answer choice B incorrect. The passage as a whole does
concern the interpr atlon of the pricing of tulip bulbs in the
seventeenth-century, and it might be said that the debate be-
tween Mackay and Garber concerns whether this case fits
commonly agreed-upon criteria regarding speculative bub-
bles. However, at line 38 Garber's point is simply about prices
fitting a pattern observed in a number of other cases. In this

way, it is a point about conformance to a historical pattern,
not to agreed-upon standards.

Answer choice (C) is incorrect. There is no reason to think
that the author views pricing patterns as “acceptable” or
unacceptable, or that the author believes there is a standard
for acceptability.

Answer choice (E) is incorrect. An “exemplar” would be a
particular case that serves as some kind of madel or ideal.
No particular case is being offered up as a in the third
paragraph. Instead the “standard pricing p&tternf'|is only
described generally, not by reference to sane_?gdigm ex-
ample of the pattern Garber has m‘n ﬂd

Based on the number of test ta who answer
question correctly when it appea:ton the LSAT,
difficult question. - R

1;1 r

&account(of thigeventeenth century Dutch
which one of,h following is most analogous to

this
his was a

Questlon 7

an artldealer who, after paying a very high price for
a new painting, sells it at a very low price because
it i§ now considered to be an inferior work
(C) someone who, after buying a box of rare motorcycle
parts at a very high price, is forced to sell them
at a much lower price because of the sudden
availability of cheap substitute parts
(D) apublisher who pays an extremely high price for a
new novel only to sell copies at a price affordable
to nearly everyone
(E) an airline that, after selling most of the tickets for
seats on a plane at a very high price, must sell the
remaining tickets at a very low price

Explanation for Question 7

This question requires the test taker to identify the scenario
that is most analogous to the way in which Garber would view
the purchase of a tulip bulb at a very high price, and the later
sale of tulip bulbs of that same variety at a much lower price.
Before looking at the answer choices, it is worth getting clear
on the specifics of Garber's account. In Garber's view, the
value of the original bulb reflects the earnings that can be
made from the descendant bulbs. Since an original bulb will
produce multiple descendants, the value of the original will
be much greater than the value of any individual descendant.
The value of the original reflects the cumulative value of the
descendants. Thus, someone could buy an original bulb at a
very high price and still turn a profit by selling descendant
bulbs at a much lower price.



The correct answer choice is (D). The relation between the
manuscript of a new novel and the copies that can be made
of that novel is analogous to the relation between an original
bulb and its descendants. From the original novel, the pub-
lisher can produce many copies. The copies can then be sold
for a much lower price than the original. The value of the new
novel reflects the cumulative value of the sales of the copies.

Answer choice (A) is incorrect. The scenario described does
not include anything akin to the relationship between an orig-
inal bulb and later descendants. Instead, it presents an
example of someone who applies for a job based on a per-
ception about the degree of competition for that job.

Answer choice (B) is incorrect. In this scenario, the value of
the painting has dropped due to critical or public opinion.
This represents a case in which the art dealer has taken a loss,
not one where the art dealer recoups the original value of the
painting through an accumulation of smaller sales.

Answer choice (C) is incorrect. On the surface, the drop in
price of the motorcycle parts due to a flooded market of re-
placement parts seems similar to the drop in price of the
bulbs of a variety of flowers. However, the situation is
disanalogous in crucial respects. The cheap substitute parts
cannot be described as anything like “descendants” of the
original rare parts, and the owner of the box of rare parts
does not get the value back through the cumulative sales of
the cheap replacements. Indeed, the owner of the box of rare
motorcycle parts was simply forced to sell the parts at a loss.

Answer choice (E) is incorrect. The airline had a certaiq -
ber of seats for which they could sell tickets. The drop i p:g
over time is not a product of increased availability@s infihe
case of the flower bulbs. In this case, the numbeg of av&ilable
seats has actually decreased. While it is surely rZ“ al forthe
airline to reduce the price of the seats, the sitlation is not
analogous to the drop in price of descendant flower bulbs.

Based on the number of test takersawh £1swered this
question correctly when it appeared qff the® SAT, this was a
difficult question. T i,-

)

For the félfbmg comparative reading set, information about
the difficylty of the questions isfit ayailable.

Passage Pair for Questioas__ 14

The following passages we
published in the mid-1990s
S

Passage
In Jandary 1995 a vast section of ice broke off the
Larsen icefshelf in Antarctica. While this occurrence,

adapted from articles

the direct It of a regional warming trend that began
in the 1940s,'may be the most spectacular

(5) manifestation of serious climate changes
occurring on the planet as a consequence of
atmospheric heating, other symptoms—more intense
storms, prolonged droughts, extended heat waves, and
record flooding—have been emerging around the

(10) world for several years.

(35)

(65)

According to scientific estimates, furthermore,
sea-level rise resulting from global warming will
reach 3 feet (1 meter) within the next century. Such a
rise could submerge vast coastal areas, with
potentially irreversible consequences.

Late in 1995 the Intergovernmental Panel on
Climate Change (IPCC) reported that it had detected

the “fingerprint” of human activity as a c@ntributor to
the warming of the earth’s atmosphere. ermore,
panel scientists attributed such warmillg diregtly to

the increasing quantities of carbon diexide geleased
by our burning of fossil fuels. ThelIPCC regorthus
clearly identifies a pattern of matic responge to
human activities in the clima |og'ica| recordfthereby
establishing without doubf‘ﬂwatoiob‘@l Wwarming can
no longer be attribuﬂa(fsolely to¥natural climate
variability. -

'S (‘1;1

P s}ge ' 1"'
‘Over e past two !e ades, an extreme view of

nts, and has sometimes resulted in
le environmental policies.
ing to this view, global warming will cause the
to meltgraising global sea levels,
ireffegions, destroying crops, and
displaging millions of people. However, there is still a
great deal of uncertainty regarding a potential rise in
sea leyels. Certainly, if the earth warms, sea levels
will rfse as the water heats up and expands. If the
polarice caps melt, more water will be added to the
oceans, raising sea levels even further. There is some
evidence that melting has occurred; however, there is
also evidence that the Antarctic ice sheets are
growing. In fact, it is possible that a warmer sea-
surface temperature will cause more water to
evaporate, and when wind carries the moisture-laden
air over the land, it will precipitate out as snow,
causing the ice sheets to grow. Certainly, we need to
have better knowledge about the hydrological cycle
before predicting dire consequences as a result of
recent increases in global temperatures.

This view also exaggerates the impact that human
activity has on the planet. While human activity may
be a factor in global warming, natural events appear
to be far more important. The 1991 eruption of Mount
Pinatubo in the Philippines, for example, caused a
decrease in the average global temperature, while El
Nifo, a periodic perturbation in the ocean'’s
temperature and circulation, causes extreme global
climatic events, including droughts and major
flooding. Of even greater importance to the earth’s
climate are variations in the sun’s radiation and in the
earth’s orbit. Climate variability has always existed and
will continue to do so, regardless of human
intervention.
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Question 8
Which one of the following questions is central to both passages?

How has an increase in the burning of fossil fuels
raised the earth’s temperature?

(B) To what extent can global warming be attributed

to human activity?

(C) What steps should be taken to reduce the rate of
global warming?
(D) What kinds of human activities increase the amount

of carbon dioxide in the atmosphere?
(E) To what extent is global warming caused by variations
in the sun’s radiation and the earth’s orbit?

Explanation for Question 8

Most single-passage reading comprehension sets include a
question that asks about the passage’s main point or central
topic, or the author’s main purpose in writing. The same is true
of most comparative reading sets, but in comparative reading
sets the questions may ask about the main point, primary pur-
pose, or central issue of both passages, as is the case here.
The correct response is (B), “To what extent can global
warming be attributed to human activity?” Both passages are
concerned with the current warming trend in the earth'’s cli-
mate, which is generally referred to as “global warming.”
Both passages agree that the earth’s climate is mdeed g
warmer, but it is clear that the two authors differ in thelr |e&

on the issue. In the third paragraph of each passa auw
thor raises the question of the causes of global warmi
Passage A cites a report by the Intergovernmen anel on

Climate Change (IPCC) that attributes warming " directly to
the increasing quantities of carbon dioxide released by our
burning of fossil fuels” (lines 20-22). Hmesu‘&or concludes,
“The IPCC report thus clearly identifigé a'pdttern of climatic
response to human activities in the clifnatoldggical record,
thereby establishing without ddubt that al warming can
no longer be attributed solely to natural climate variability”

(lines 22-27). In contrast, th or of passage B argues,
“While hu tivity may be a fagtor in global warming, nat-
ural eventg appear to be far mofdlimportant” (lines 53-55). In
other words, a central concern infeachjpassage is the cause of

global warming, and more specifically, the extent to which the
phenomenonican pe attributed fo human activity or to natural
climate variability. Thus, responge (B) expresses a question

Response (Allis incorrect bec
dress the issuelof fossil fuels. While passage A states that the
IPCC scientists atiibuted glebal warming “directly to the in-
creasing quantiti€s of carbon dioxide released by our burning
of fossil fuels” (linesp20-22), passage B makes no mention of
fossil fuels or carbon dioxide.

Response (C) is incorrect because neither passage discusses
steps that should be taken to reduce global warming. The au-
thor of passage A believes that global warming is a serious
problem for which human activity bears significant responsi-
bility, so he or she presumably believes that some steps

se passage B does not ad-

should indeed be taken. But he or she does not actually dis-
cuss any such steps. Meanwhile, the author of passage B is
not even convinced that human activity bears much responsi-
bility for global warming; accordingly, passage B is not
concerned at all with the question of what steps should be
taken to address the problem.

Response (D) is incorrect because, as mentioned in the ex-
planation of response (A) above, passage B migkes no
mention of carbon dioxide or of any kmds'of umman activities

that increase carbon dioxide in the atmosphfiere. 4

Response (E) is incorrect because passage A% t men-
tion variations in the sun’s radlatlon%nﬁ the ea |t as
possible causes of global warmin e author’of @assage B
mentions variations in the sun’s raﬂnon and thelearth’s orbit

as natural contributors to cllma’{'l!"varliloaI tbut does so in or-

der to illustrate a more gé’]ial pointfhamely, that natural

climate variability may Very % | explainfglobal warming. The

sun's ra&aticgmd thellearth’s orbit are not the central con-
qsa B. 1

» | )

9
hich ore of tie following is mentioned in passage B but not
n passagl A a8 a possible consequence of global warming?

z

an inciase in the size of the Antarctic ice sheet
a decre tgamount of snowfall

a falling of ocean sea levels

an inclease in the severity of heat waves

an increase in the frequency of major flooding

B

=
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(
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Explanation for Question 9

This question is designed to test the ability to recognize a sig-
nificant difference in the content of the two passages.

The correct response is (A), “an increase in the size of the
Antarctic ice sheet.” In lines 42-48, passage B explicitly cites
the possibility that the Antarctic ice sheet will grow as a result
of warmer sea temperatures brought about by global warm-
ing. On the other hand, passage A does not mention any
possibility that the Antarctic ice sheet might grow. In fact, on
the topic of the Antarctic ice sheet, passage A alludes only to
the breaking off of part of the Larsen ice shelf (lines 1-2),
which suggests that, if anything, the author of passage A be-
lieves that the Antarctic ice sheet is shrinking because of
global warming. Thus response (A) describes something that
is mentioned in passage B, but not passage A, as a possible
consequence of global warming.

Response (B) is incorrect because passage B mentions only
increased snowfall as a possible consequence of global warm-
ing. The correct response must be something mentioned in
passage B but not in passage A.

Response (C) is incorrect because passage B mentions only ris-
ing sea levels as a possible consequence of global warming. The
author's reference to the possibility that the Antarctic ice sheet
might grow suggests that, in the author’s eyes, the rise in sea
level might be slowed. But nowhere does the author say that sea
levels might drop as a consequence of global warming.
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Response (D) is incorrect because, while passage A mentions
extended heat waves as a consequence of global warming,
passage B does not mention heat waves in any connection.

Response (E) is incorrect because passage A discusses ma-
jor flooding as a consequence of global warming in the first
two paragraphs.

Question 10

The authors of the two passages would be most likely to
disagree over

(A)  whether or not any melting of the polar ice caps
has occurred

(B) whether natural events can cause changes in
global climate conditions

(C) whether warmer air temperatures will be likely to
raise oceanic water temperatures

(D) the extent to which natural climate variability is
responsible for global warming

(E) the extent to which global temperatures have risen
in recent decades

Explanation for Question 10

A significant number of questions for Comparative Reading
passages require an ability to infer what the authors’ views are
and how they compare. Some questions ask about p0|
agreement between the authors. Others, such as this on
about points on which the authors disagree.

As you read the response choices for a questlo of t rt, it
is a good idea to recall what you may have alread cluded
about points of agreement and disagreement B&tween the au-
thors. For example, it was noted above th zle authors of these
two passages disagree on at least oneskey (see the expla-
nation of question 8)—the causes of gl a1w'5rh‘,1mg The correct
response to this question is related to tfis p0| tof contention:
the correct response is (D), “the gxtent to natural climate
variability is responsible for glebal warming.” Passage A states,
"The IPCCreportithus clearl{Fid@ntifies a pattern of climatic re-
sponse to activities in the atological record, thereby
establishing without doubt that alwarming can no longer
be attributed solely to natural clim@te variability” (lines 22-27). In
contrast, passage B states, “Whilefhuman activity may be a fac-
tor in global warmigg, natural evepts appear to be far more
important” (limes 53<55). In short,jwhile the author of passage A
holds that human activity is subst@ntially responsible for global
warming, the adthor of passage B holds that natural events may
exert far more ififluence on the garth’s climate.

Response (A) Isiincorrect beécause it is not clear that the au-
thors would disagree over this issue. The author of passage A
describes the breakiffig off of part of the Larsen ice shelf in
Antarctica as “the direct result of a regional warming trend
that began in the 1940s” (lines 3-4). The author does not use
the precise words the “melting of the polar ice caps,” but the
implication of what the author does say is that such melting is
obviously taking place. On the other hand, it is not clear that
the author of passage B would disagree with this claim, since

the author concedes that there is evidence supporting the
position: “There is some evidence that melting has oc-
curred...” (lines 41-42).

Response (B) is incorrect because both authors would agree
that natural events can cause changes in global climate condi-
tions. Since the author of passage B argues that natural events
appear to be a more important factor in global warming than
human activity, he or she must agree that natural events can
affect global climate. And indeed, the author ¢i e eruption
of Mount Pinatubo, El Nifo, and variations infthe sdin's radiation
and the earth’s orbit as examples of naturalmer%t 3re
known to have done so (lines 55-63) ©nlthe oth fid, the con-
cluding sentence of passage A—w ends with*thgeclaim that
the IPCC report has established "ﬂr;global warmlgcan no
longer be attributed solely to nattifal clignate variability” (lines
25-27, emphasis added f‘]dtectly aclj;)w edges that natural
events do play a role in @sain the efﬁ’s climate. Thus the
authorshoul agree with res to response (B).
is incorrect b{d'éuse the passages provide no

cluding tl“;a he authors would disagree over
er air temperatures on oceanic water tem-
thor of passage B holds that warmer air
uld heat up the oceans. Passage B states,
earth warms, sea levels will rise as the water
xpands” (lines 38-39). However, the author of

res
'Certainly if t
eats up

passage A gays nothing at all about a causal relationship be-
tween air te t and oceanic water temperatures, and
this lack of g@vidence does not allow us to conclude that the

author would disagree with the view expressed by the author
of passage/B.
Respon{e ) is incorrect because the passages do not

provide any specific indications regarding either author’s
views on the extent to which global temperatures have risen
in recent decades. Both authors presume that global temper-
atures have risen, but they say nothing that would allow us to
draw any clear inferences regarding their views on how much.

Question 11
Which one of the phenomena cited in passage A is an in-

stance of the kind of “evidence” referred to in the second
paragraph of passage B (line 42)?

(A) the breaking off of part of the Larsen ice shelf in 1995

(B) higher regional temperatures since the 1940s

(C) increases in storm intensities over the past several
years

(D) the increased duration of droughts in recent years

(E) the increased duration of heat waves over the past
decade
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Explanation for Question 11

This question concerns the use of the word “evidence” in line
42 in passage B. The author acknowledges that there is
“some evidence” that melting of the polar ice caps has
occurred. This question asks the examinee to identify which
of the phenomena cited in passage A could be seen as an
example of that kind of evidence.

The correct response is (A), “the breaking off of part of the
Larsen ice shelf in 1995.” The author of passage A cites this event
(lines 1-2), and it is evidence of melting of the polar ice caps.

Response (B) is incorrect because, while the higher temper-
atures in the Antarctic region since the 1940s might well be
the cause of any melting of the polar ice that has taken place,
it cannot be used as evidence of that melting.

Responses (C), (D), and (E) are incorrect because the phe-
nomena they refer to—increased storm intensities, longer
droughts, and longer heat waves—are all different possible
consequences of global warming, like the melting of the polar
ice caps. None of these phenomena can be taken as evidence
of the melting of the polar ice caps.

Question 12

The author of passage B would be most likely to make which
one of the following criticisms about the predictions cited in

passage A concerning a rise in sea level?
and rising sea levels.

These predictions are supported only by inc sive
evidence that some melting of the pol3Fice caps
has occurred.

These predictions exaggerate the c}&ee to which
global temperatures have incr dJ'Hw'l;gcent
decades.

These predictions rely on fin |nadeq
understanding of the y rological cycle

(E) These predictions ass continuing increase in

gﬁ)k’a peratures that‘.miﬂot occur.
Explana‘c:n for Question 12

This questionirequires the examjnee to infer what the opinion
of one of thesauthors would belsgardmg a view expressed in

(A) These predictions incorrectly posit a causal

relationship between the warming of the eaﬁw

(B)

the other passage. Specifically, the question asks which criti-
cism the authof of passage B would be most likely to offer in
response to th& predictions m
rising sea levels

e in passage A concerning
e predictions in question are found in the
second paragraph of passage A. There the author cites scien-
tific estimates that giébal warming will result in a sea-level rise
of 3 feet (1 meter) within the next century. The author adds,
“Such a rise could submerge vast coastal areas, with poten-
tially irreversible consequences” (lines 13-15).

The correct response is (D). The author of passage B ad-
dresses the effects of global warming on sea levels in the second
paragraph. The author concedes that warming water would ex-

pand, causing sea levels to rise, and that the problem would be
compounded if the polar ice caps melt (lines 38-41). But the au-
thor of passage B goes on to argue that warmer water
temperatures might also result in more evaporation, which in
turn could produce more snowfall on the polar ice caps, causing
the ice caps to grow (lines 44-48). The author concludes the dis-
cussion of sea levels by stating, “Certainly, we need to have
better knowledge about the hydrological cycle Before predicting
dire consequences as a result of recent increa lobal tem-
peratures” (lines 48-51). Since the author of pissage A does in
fact cite predictions of dire consequences, which agg’evidently
made without taking into account th& pdsmble itigating factors
discussed in passage B, the author passage B Wogld be likely
to regard those predictions as relyir€on an inadequiate under-
standing of the hydrological cycl&®

Response (A) is incorrect kfcause #H Bihor of passage B
agrees that thereisa c |onsh| etween the warm-
ing of the ea h and ri g se vels ||nes 38-39). The author

Ids, however, tﬁat the relationship between
res and s a evels is more complex than ac-

of passag

usal relgtion
Responge (B)is incorrect because the author of passage B is
aware thafl atlffeast one factor other than the melting of the ice
caps—nam‘ y the expansion of water as it warms—can cause

sea levels to rise (lin€s 38-39). There is no indication that the

author of pgissage B believes that those who make the predic-
tions cited In passage A are unaware of this additional factor,
or that the melting of the polar ice caps is the only causal

mechamsﬁ'w they rely on in making their predictions.

Response (C) is incorrect. The author of passage B does
dispute the conclusions drawn by some people, such as the
author of passage A, regarding the causes and consequences
of the warming trend. But, as noted in the explanation for
question 10, there is no evidence that the author of passage B
disputes any claims made about the extent of the warming
that has taken place so far.

Response (E) is incorrect because the author of passage B
says nothing about any assumptions concerning future temper-
ature increases underlying the dire predictions cited in passage
A. There is therefore no evidence that the author of passage B
is likely to view such assumptions as grounds for criticism.

Question 13

The relationship between passage A and passage B is most
analogous to the relationship between the documents de-
scribed in which one of the following?

(A) aresearch report that raises estimates of damage
done by above-ground nuclear testing; an article
that describes practical applications for nuclear
power in the energy production and medical fields

an article arguing that corporate patronage biases
scientific studies about the impact of pollution on
the ozone layer; a study suggesting that aerosols
in the atmosphere may counteract damaging

(B)



effects of atmospheric carbon dioxide on the
ozone layer

(C) an article citing evidence that the spread of human
development into pristine natural areas is causing
catastrophic increases in species extinction; an
article arguing that naturally occurring cycles of
extinction are the most important factor in
species loss

(D) an article describing the effect of prolonged
drought on crop production in the developing
world; an article detailing the impact of innovative
irrigation techniques in water-scarce agricultural
areas

(E) aresearch report on crime and the decline of
various neighborhoods from 1960 to 1985; an
article describing psychological research on the
most important predictors of criminal behavior

Explanation for Question 13

The response choices in this question describe pairs of hypo-
thetical documents. Based on the descriptions of those
documents, you are asked to identify the pair of documents
that stand in a relationship to each other that is most analo-
gous to the relationship between passage A and passage B.
In order to answer this question, you need to determine, at
least in a general way, what the relationship between p‘a

A and passage B is. l\

As already discussed, the authors of passage A sage
B agree that global warming is occurring, but t dIS ree as
to its cause. Passage A holds that human act|V|t ubstan-
tially responsible, and the author quotes the IFC claim that

bon dioxide released by our burningsef fossil fuels” (lines
20-22). Passage B, on the other hand, gtates] “While human
activity may be a factor in global warr‘tng, tural events ap-
pear to be far more important“f{lines 53- "f

The closest analogy to thisyrelationship'is found in
response (C): an article utlf@ idence that the spread of hu-
man devel nt into pristine natural areas is causing
catastropffiic increases in speciesi xtigction; an article arguing
that natufially occurring cycles of Bxtingtion are the most im-
portant factor in species loss.

Like passage A and passage BJ these two documents both
agree that atiend—loss of spegies—is occurring. And also
like passage A and passage B, these two documents differ in
their assignmeht of responsibilify for the trend. The first docu-
ment identifiesfhuman activityas the salient cause, while the
second documdngidentifies natural cycles as the salient
cause. Most impdrtantly, both articles discuss the same phe-
nomenon, and theyBropose conflicting explanations of the
phenomenon, as is the case with passages A and B.

Response (A) is incorrect because the two documents
discuss related topics—damage done by above-ground
nuclear testing and practical applications of nuclear power—
rather than the same topic, as in passage A and passage B.
They are not attempting to explain the same phenomenon.

warming is due “directly to the mcreasmgiannhes of car-
I

Response (B) is incorrect because while, at a general level,
both documents engage the same topic—the effect of pollu-
tion on the ozone layer—they do not appear to agree that
there is a phenomenon that needs to be explained, much less
offer competing or conflicting explanations. The first docu-
ment argues that at least some studies of the problem are
beset with bias, without apparently making any claims about
how pollution affects the ozone layer. Meanwhijle, the second
document seems to argue that the effects*of i&rent types of
pollution may cancel each other out. ( L |

Response (D) is incorrect because the second gocument
describes what appears to be a po&nﬁal way t@ ad@lress the
problem identified in the first docgfent. Neither passage A
nor passage B discusses a methoﬁ:r addressingfthe prob-

lem of global warming.

Response (E) is incorrect @cause tl*g two documents
discuss related problems; r than t same problem. The
first do@me discuss ‘Ie é‘;atlonshlp between crime and
ofarious n |ghbt1'"hoods over 25 years, while the
t address}s different question: factors that
inal behavior in individuals.

hich on@ offthe following most accurately describes the re-
lationship bEtween the argument made in passage A and the
argument m ssage B?

(A) Passage A draws conclusions that are not based on
hard evidence, while passage B confines itself to
prd':/en fact.

(B) Passage A relies on evidence that dates back to
the 1940s, while passage B relies on much more
recent evidence.

(C) Passage A warns about the effects of certain recent
phenomena, while passage B argues that some
inferences based on those phenomena are
unfounded.

(D) Passage A makes a number of assertions that
passage B demonstrates to be false.

(E) Passage A and passage B use the same evidence
to draw diametrically opposed conclusions.

Explanation for Question 14

This question tests for the ability to understand how the argu-
ments in the two passages unfold and how they are related.
The correct response is (C). The author of passage A begins
by describing some of the recent phenomena attributed to
atmospheric heating. Some of the author’s particular choices
of words—such as “the most spectacular manifestation yet”
(lines 4-5, italics added) and “have been emerging around the
world for several years” (lines 9-10)—clearly imply that such
"spectacular” phenomena are likely to continue to emerge in
the coming years. And in the second paragraph, the author
describes the effects of a predicted sea-level rise due to
global warming as “potentially irreversible.” In contrast, the
author of passage B argues that an “extreme view" of global
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warming has developed, containing “exaggerations and mis-
statements” (lines 28-31). For example, the author of passage
B argues, “Certainly, we need to have better knowledge
about the hydrological cycle before predicting dire conse-
quences as a result of recent increases in global
temperatures” (lines 48-51). Thus, unlike the author of pas-
sage A, the author of passage B argues that some of the
conclusions based on the phenomena surrounding global
warming lack foundation.

Response (A) is incorrect because the author of passage A
does in fact rely on hard evidence in drawing his or her con-
clusions. Though the author of passage B obviously questions
inferences like those drawn in passage A, the evidence used
in passage A (the breaking off of the Larsen ice shelf, more in-
tense storms, etc.) is not in dispute. Nor does the argument in
passage B confine itself exclusively to proven fact: in lines
44-48, the author speculates about possible implications of
the "hydrological cycle” for the Antarctic ice sheet.

Response (B) is incorrect because both passages rely on
recent evidence—for example, see the beginning and end of
the first paragraph of passage A and the reference to Mount
Pinatubo in passage B (lines 55-57).

Response (D) is incorrect because passage B does not dem-
onstrate that any of the assertions made in passage A are
false. For example, the author of passage B concludes the
discussion of sea level in the second paragraph by stating,
“Certainly, we need to have better knowledge about the hy-
drological cycle before predicting dire consequences a*
result of recent increases in global temperatures” (lines ‘\
48-51). This does not amount to a demonstration cﬁhe alsity
of the predictions.

Response (E) is incorrect because, while both gkages’ refer
to some of the same phenomena—such as m&8fing of polar
ice—each also cites evidence that the otherpassage does not
mention. In reaching its conclusion, pass A cites intense
storms and extended heat waves in thé first®oaragraph, and
the release of carbon dioxide from beﬂng sil fuels in the
third paragraph; passage B mehtions non these things. In
reaching its quite different eendlusion, passage B cites the

eruption of Mount Pinatubd} ifo, and variations in the
sun’s radiatio d in the earth’s it, as well as evidence that
the Antargtic ice sheets might rowing. None of this evi-
dence is mentioned in passage

ANALYTICAL REASONING QUESTIONS

S
Analytical Reasgning questions
ability to consi@er a group of fagts and rules, and, given those
facts and rules fdetermine what could or must be true. The
specific scenaridggassociated with these questions are usually
unrelated to law,Since they are intended to be accessible to a
wide range of test tfers. However, the skills tested parallel
those involved in determining what could or must be the case
given a set of regulations, the terms of a contract, or the facts
of a legal case in relation to the law. In Analytical Reasoning
questions, you are asked to reason deductively from a set of
statements and rules or principles that describe relationships
among persons, things, or events.

re designed to assess the

Analytical Reasoning questions appear in sets, with each set
based on a single passage. The passage used for each set of
questions describes common ordering relationships or group-
ing relationships, or a combination of both types of
relationships. Examples include scheduling employees for
work shifts, assigning instructors to class sections, ordering
tasks according to priority, and distributing grants for projects.

Analytical Reasoning questions test a rangefofideductive
reasoning skills. These include: .

|
e Comprehending the basic structure of asset c%lat"onships
by determining a complete solut&m-‘co the poblém posed
(for example, an acceptable seafg arrangem-erof all six
diplomats around a table)

e Reasoning with condmani ("if= the’” ) statements and

recognizing logical (G‘,H}Jkent formr'atlons of such

statement

r1n§whe could be t’ul or must be true from given

Inferring whatt could be true or must be true from given
facts anfd rujes together with new information in the form
ofana nal or substitute fact or rule

QJWO statements are logically equivalent
y identifying a condition or rule that could
replace dne of the original conditions while still resulting
in the same possible outcomes

Analytical Reasoning questions reflect the kinds of detailed
analyses of relationships and sets of constraints that a law stu-
dent must perform in legal problem solving. For example, an
Analytical Reasoning passage might describe six diplomats
being seated around a table, following certain rules of proto-
col as to who can sit where. You, the test taker, must answer
questions about the logical implications of given and new in-
formation. For example, you may be asked who can sit
between diplomats X and Y, or who cannot sit next to X if W
sits next to Y. Similarly, if you were a student in law school, you
might be asked to analyze a scenario involving a set of partic-
ular circumstances and a set of governing rules in the form of
constitutional provisions, statutes, administrative codes, or
prior rulings that have been upheld. You might then be asked
to determine the legal options in the scenario: what is re-
quired given the scenario, what is permissible given the
scenario, and what is prohibited given the scenario. Or you
might be asked to develop a “theory” for the case: when
faced with an incomplete set of facts about the case, you
must fill in the picture based on what is implied by the facts
that are known. The problem could be elaborated by the ad-
dition of new information or hypotheticals.

No formal training in logic is required to answer these ques-
tions correctly. Analytical Reasoning questions are intended to
be answered using knowledge, skills, and reasoning ability
generally expected of college students and graduates.
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Suggested Approach

Some people may prefer to answer first those questions
about a passage that seem less difficult and then those that
seem more difficult. In general, it is best to finish one passage
before starting on another, because much time can be lost in
returning to a passage and reestablishing familiarity with its
relationships. However, if you are having great difficulty on
one particular set of questions and are spending too much
time on them, it may be to your advantage to skip that set of
questions and go on to the next passage, returning to the
problematic set of questions after you have finished the other
questions in the section.

Do not assume that because the conditions for a set of
questions look long or complicated, the questions based on
those conditions will be especially difficult.

Read the passage carefully. Careful reading and analysis
are necessary to determine the exact nature of the relation-
ships involved in an Analytical Reasoning passage. Some
relationships are fixed (for example, P and R must always work
on the same project). Other relationships are variable (for ex-
ample, Q must be assigned to either team 1 or team 3). Some
relationships that are not stated explicitly in the conditions
are implied by and can be deduced from those that are
stated (for example, if one condition about paintings in a dis-
play specifies that Painting K must be to the left of Painting V,
and another specifies that Painting W must be to the left of
Painting K, then it can be deduced that Painting W musQ to
the left of Painting V). i

In reading the conditions, do not introduce unwarn tias—
sumptions. For instance, in a set of questions estaiishm
relationships of height and weight among the me rs of a
team, do not assume that a person who is taller'¥ian another
person must weigh more than that persongAs.another example,
suppose a set involves ordering and asque izn in the set asks
what must be true if both X and Y must e eaflier than Z; in this
case, do not assume that X must be ea{er th merely be-
cause X is mentioned before Y. All the information needed to
answer each question is prO\./?Je in the passage and the
question itself. 4 y

The condition$ are désigned to'e as clear as possible. Do
not interpiiet the conditions as iftheyywere intended to trick
you. For @&ample, if a question agks hew many people could
be eligible to serve on a commitfee, consider only those peo-
ple named injthe passage unless directed otherwise. When in
doubt, read the conditions in their most obvious sense. Re-
member, howeyer, that the language in the conditions is
intended to belread for precisefmeaning. It is essential to pay
particular atterftion to words thiat describe or limit relation-
ships, such as "@nly,” “exactly,” “never,” "always,” “must be,”
"cannot be,” and'the like.

The result of this feful reading will be a clear picture of
the structure of the relationships involved, including the kinds
of relationships permitted, the participants in the relation-
ships, and the range of possible actions or attributes for
these participants.

"on

Keep in mind question independence. Each question
should be considered separately from the other questions in its
set. No information, except what is given in the original condi-
tions, should be carried over from one question to another.

In some cases a question will simply ask for conclusions to
be drawn from the conditions as originally given. Some ques-
tions may, however, add information to the original conditions
or temporarily suspend or replace one of the @riginal condi-
tions for the purpose of that question only: Ear example, if
Question 1 adds the supposition “if P is sitting atitable 2 ...,"
this supposition should NOT be carried ower toite o}her
question in the set. A ) L]

Consider highlighting text ancrsing diagrams: Many
people find it useful to underline Rey points, in thé passage
and in each question. In additio®; it may Erdve very helpful
to draw a diagram to assist you in finding'the solution to
the problem. < 3 2

In preparing for the ist,'yo "'_may wish to experiment with
differepttJpesiof diagrams. Aor a scheduling problem, a sim-
endar-like diagram may be helpful. For a grouping
of labeled columns or rows may be useful.
ost people/find diagrams to be very helpful,

| need a diagram. There is by no means

ment on which kind of diagram is best for
which probfem or in which cases a diagram is most useful. Do
not be conce if#@ particular problem in the test seems to
be best apgroached without the use of a diagram.
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Eight Sample Analytical Reasoning Questions and Explanations

The sample questions that follow are typical of the Analytical Reasoning problems you will find on the LSAT. There is a brief
passage that presents a set of conditions, followed by questions about the relationships defined in the passage. While each
passage among the examples here is followed by only one or two sample questions, each passage in the Analytical Reasoning

section of the actual LSAT is followed by five to seven questions.

Directions: Each group of questions in this section is based on a set of conditions. In answering some of the q@s{zns, it may
be useful to draw a rough diagram. Choose the response that most accurately and completely answers the qftf and
L

blacken the corresponding space on your answer sheet.
Passage for Question 1

A university library budget committee must reduce exactly
five of eight areas of expenditure—G, L, M, N, P, R, S, and
W—in accordance with the following conditions:

If both G and S are reduced, W is also reduced.

If N is reduced, neither R nor S is reduced.

If P is reduced, L is not reduced.

Of the three areas L, M, and R, exactly two are reduced.

Question 1

If both M and R are reduced, which one of the following is a
pair of areas neither of which could be reduced?

(A G, L

B) G,N

© LN - (
D) L P

E) PS ‘: l

Explanation for Question 1

This question concerns a committeeh,de%igon about which
five of eight areas of expenditure to rgduce® The question re-
quires you to suppose that M and R atam the areas that
are to be reduced, and then tofdetermineywhich pair of areas
could not also be among th f| e areas thatare reduced.

The fourth condition g|ve“; he passage on which this
question is' based requires that exactly two of M, R, and L are
reduced. Since the question as N\Ksuppose that both M
and R arelreduced, we know tha t not be reduced:

ReducedsM, Ry
T

Not reduced: L
The second dondition requirgs that if N is reduced, neither
R nor S is reduc
since R is reduced, we know that N cannot be. Thus, adding
this to what we've d&termined so far, we know that L and N
are a pair of areas that cannot both be reduced if both M and
R are reduced:

Reduced: M, R

Not reduced: L, N

So.N and'R cannot both be reduced. Here,

-
Answer choice (C) is therefore the‘.c_o?rect an
are done. L ;r
When you are taking the test, if you have determined the cor-
rect answer, there is no need to flile out the other answer
choices. However, for our hujposes in this section, it might be
|nstruct1ve to go over { rl_hcgrrect answf choices. For this

|
erfland you

of the ifeorrect answer choices can be ruled out
sible outcomd in which at least one of the two
t answer d‘no-lce are reduced. Consider answer
lists the pair G and L. We already know that

consider is whether G can be one of the areas
Here's one such possible outcome:

M, R,? S, W
If areas M, R, G,.S, W are reduced, then the supposition for
the questioh holds and all of the conditions in the passage
are met:
)

e M and R are both reduced, as supposed for this question.

e Both G and S are reduced, and W is also reduced, so the
first condition is satisfied.

N is not reduced, so the second condition is not relevant.

P is not reduced, so the third condition is not relevant.

Exactly two of L, M, and R are reduced, so the fourth condi-
tion is satisfied.

Thus, since G could be reduced without violating the condi-
tions, answer choice (A) can be ruled out. Furthermore, since
G appears in the pair listed in answer choice (B), we can also
see that (B) is incorrect.

Now let’s consider answer choice (D), which lists the pair L
and P. We already know that for this question L must be one
of the areas that is not reduced, so all we need to consider is
whether P can be one of the areas that is reduced. Here's one
such possible outcome:

Reduced: M, R, P, S, W
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If areas M, R, P, S, and W are reduced, then the supposition
for the question holds and all of the conditions in the passage
are met:

e M and R are both reduced, as supposed for this question.

e G is not reduced, so the first condition is not relevant.

N is not reduced, so the second condition is not relevant.

P is reduced and L is not reduced, so the third condition is
satisfied.

Exactly two of L, M, and R are reduced, so the fourth
condition is satisfied.

Thus, since P could be reduced without violating the condi-
tions, answer choice (D) can be ruled out. Furthermore, since
P appears in the pair listed in answer choice (E), we can also
see that answer choice (E) is incorrect.

This question was of moderate difficulty, based on the num-
ber of test takers who answered it correctly when it appeared
on the LSAT. The most commonly selected incorrect answer
choice was response (E).

Passage for Questions 2 and 3

Seven piano students—T, U, V, W, X, Y, and Z—are to gi‘a
recital, and their instructor is deciding the order in which,th
will perform. Each student will play exactly one pie*, ajpiano
solo. In deciding the order of performance, the FSUU or
must observe the following restrictions:

X cannot play first or second. -

W cannot play until X has played. '

Neither T nor Y can play seventha, {

Either Y or Z must play immediat -gfté'r"\[,\/ plays.

V must play either immediately atr or i‘"omediately

before U plays. h
Question 2 v
= W .ir -

IfV plays(st, which one of the Nﬂg must be true?

(A) T plays sixth.

(B) Xplaysthird.g

(C) Zplaysseventh.

(D) T plays immediately after
(E) W plays immediately after

i

~

F

Explanation for Question 2

This question deals with an ordering relationship defined by a
set of conditions concerning when seven piano students will
perform. As an aid in visualizing this problem you can draw a
simple diagram that shows the seven recital slots arranged in
order from left to right. Student V is shown in the first slot, as
specified by the supposition that "V plays firsq’:ﬂ

il

/)
F

Order of Recital
1. 2 38 4 5

v

E 7

L

- [
T2
We can immediatel?f'll*']n‘g'me of the Empty slots in the
diagram, The conditiofy that “Vmust play either immediately
after ogiffimediately before L{ﬁlays" tells us that U must

occyy the s d slot inithe!recital schedule. This is shown
b : -
Order of Recital
1 2 3 4 5 6 7
{ [vlu
_ilF
Since thejguestion asks us what must be true, we can elimi-

nate incorréct responses by showing that they could be false.
Response*(A) is incorrect because the statement that “T plays
sixth” is not necessarily true—we can place T in one of the
slots other than sixth and still meet all the conditions of the
problem. One such recital schedule, with T playing third, is
shown in the diagram below:

Ly

Order of Recital
1 2 38 4 5 6 7

VIUITIXIWY|Z

This schedule can be derived as follows:

1. With V, U, and T in the first three positions, there are four
positions left for W, X, Y, and Z.

2. W must come after X—because of the condition that “W
cannot play until X has played”—so if X is fourth and W
is fifth, this condition will be met.

3. This leaves two possible slots for Y and Z. Y cannot play
seventh because of the condition that “Neither T nor Y
can play seventh.” Suppose, then, that Y is sixth and Z is
seventh.
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A check will verify that this schedule meets the conditions of
the problem, including the one that “Either Y or Z must play
immediately after W plays.”

The schedule shown in the diagram also demonstrates that
response (B) is incorrect. In it, X plays fourth, so it is not cor-
rect that the statement, “X plays third,” must be true.

Response (C), "Z plays seventh,” is the credited response.
We can show Z must be seventh by demonstrating that:

e all the conditions can be met with Z in the seventh slot, and

e some of the conditions would be violated with Z in any slot
other than seventh.

To demonstrate that Z can play seventh, you can refer to the
schedule that was developed for the discussion of response
(A), above. In it, Z plays seventh, and the supposition given in
the question and all the conditions in the passage are met.

To demonstrate that Z cannot play in a slot other than
seventh, we can attempt to find another student to play
seventh. We already know that neither U nor V can play
seventh. Hence, there are four remaining players: T, W, X, and
Y. However, a review of the conditions shows that none of
those players can play seventh:

e The third condition states that “Neither T nor Y can
play seventh.”

e W can't play seventh, because there must be a slot fol ov&
ing W's in order to meet the condition, “Either ﬁ\r ust
play immediately after W plays.” If W plays se‘ent Shen
there is no such slot left for Y or Z. “

e For a similar reason X can't play seven%\iecause there
must be a slot following X's in order to et the condition,
"W cannot play until X has played.”( 4 - %

o

Since Z can play seventh andfho other aj,er can, then the
statement that Z must playf\{ nth is correct and (C) is the
credited response.

Respoﬁs!’(D.).- incorrect because it is not necessarily true
that “T plays immediately after Wr discussion of re-
sponse (A), we developed a scheflule in which T plays third
and Y plays sixth, yet all conditiofs are satisfied.

Response (E) is ipcorrect becayse, as shown in the diagram
below, it is net.necessarily true that “W plays immediately af-
ter X.” This schgdule is obtained by simply reversing the
order of player§ W and Y in the §chedule we developed in the
analysis of respense (A).

A review will that all of the suppositions given in the
question and all the conditions in the passage are met by

this schedule: r

Order of Recital
1 2 38 4 5 6 7

wviulTx|wly

~

This was a difficult question, based on the number of test
takers who answered it correctly when it appeared on the
LSAT. The most commonly selected incorrect answer choices
were (B) and (E). In answering this question, it is important to
derive information not explicitly mentioned in the passage,
such as that W cannot perform seventh.

Question 3 q

If U plays third, what is the latest position irﬁwicﬁ can play?
- }

A)  Airst g i '-' L]

(
(B) second .
(C) fifth r r
D) i
( i y e

% r
n

5;'

ves the san’e riginal conditions as the previous
ins with an additional supposition: “U plays third.”

sixth -
E th
) seven < |

Explanktior(or Que(tig
i estsn i .

in which Y can appear in the recital schedule.
sponse is (D): Y can play as late as sixth. The

|gW shows a recital order that meets all the condi-
tions and hés Y perf?ning in the sixth position:

Order of Recital
1 2 3 4 5 6 7

¢ ITIVIUX|W|Y Z

One strategy for arriving at this solution is to work backward
to see which position is the latest in which we can place Y and
at the same time produce a recital schedule that meets all the
conditions.

Using that approach, we immediately see that Y cannot play
as late as seventh, because of the condition that “Neither T
nor Y can play seventh.” Backing up and placing Y sixth, we
can begin to fill in the schedule, as follows:

Order of Recital
1 2 38 4 5 6 7

U Y

This schedule has five empty slots, into which we must fit
players T, V, W, X, and Z. The following is a series of reasoning
steps that can be used:

1. From our analysis of the previous question, we know that
players T, W, and X cannot play seventh, but that Z can,
so we can tentatively place Z in the seventh slot.

2. We also know that “Either Y or Z must play immediately
after W plays.” If we place W in the fifth slot, this
condition will be met.



3. Byplacing Vin the second slot, we can meet the condi-
tion that “V must play either immediately after or imme-
diately before U plays.”

4. We must place the remaining two players, T and X, in the
two remaining slots, the first and the fourth. Because the
first condition states that “X cannot play first ... ,” we will
place X in the fourth slot and T in the first. These posi-
tions will meet the conditions that applyto Tand X: T
will avoid playing seventh and X will play before W.

5. Since Y can play as late as sixth, response (D) is the cor-
rect solution.

This question was of middle difficulty, based on the number
of test takers who answered it correctly when it appeared on
the LSAT.

Passage for Question 4

A charitable foundation awards grants in exactly four areas—
medical services, theater arts, wildlife preservation, and youth
services—each grant being in one of these areas. One or
more grants are awarded in each of the four quarters of a cal-
endar year. Additionally, over the course of a calendar year,
the following must obtain:
Grants are awarded in all four areas.
No more than six grants are awarded.
No grants in the same area are awarded in the same (
quarter or in consecutive quarters. % 1
Exactly two medical services grants are awagded.
A wildlife preservation grant is awarded in t@‘ ]
second quarter. -

A4

1 o \.
If a wildlife preservation grant apd a y‘uth s¢nvices grant are
awarded in the same quarter of a particular Ialendar year,
then any of the following ccylg:l e true that year EXCEPT:

Question 4

qugrter.

A A m"ea'ical-;ervice?; grant is}\%ded in the second

(B) A theater arts grant is awarded i the first quarter.

(C) Atheater arts grant is awardéd in the second quarter.

(D) A wildlife preservation grant is awarded in the
fourthsquarter.

(E) Avyouth sepvices grant is awgirded in the third quarter.

Explanation for Question 4

This question de with the awarding of grants during the quar-
ters of a calendar yedF As an aid in visualizing this problem, we
can set up a simple table with columns representing the four
quarters. Since the fifth condition in the passage states that “[a]
wildlife preservation grant is awarded in the second quarter,” we
know that all possible solutions for any question based on the
passage must include a wildlife preservation grant awarded in
the second quarter, which we can represent like this:

1 2 3 4
wW

The particular question here begins with the added suppo-
sition that “a wildlife preservation grant and a youth services
grant are awarded in the same quarter of a particular calendar
year.” One possible way this could be satisfied is to have a
youth services grant awarded in the second g@iaster in addi-
tion to the wildlife grant awarded in that q'u? {

1 2 3 4

; ﬁ / ‘
' f'
Another possibility would be # hav %a WllHIlfe preservatlon
h

grant and a youth service$, Qant both%eing awarded in some
quarter other than the eepn quarter. ﬁven the condition

that ” nb gr s in thefsame area are awarded in the same
nsecut| f'érs," the only quarter in which
reser at|on gra ould be awarded in addition to

N
Moo
<=»

So far, then, we've determined that for this question there
must be d'youth services grant awarded in the second quarter
or the fourth quarter.

Each of the incorrect answer choices for this question is a
statement that could be true. The question asks you to iden-
tify the exception; that is, you need to find the statement that
cannot be true. The correct answer choice is (E), which states:
"“A youth services grant is awarded in the third quarter.” This
could not be true without violating the third condition, which
specifies that “[n]o grants in the same area are awarded in the
same quarter or in consecutive quarters.” We saw above that
a youth services grant must either be awarded in the second
quarter or the fourth quarter. On either possibility, awarding
a youth services grant in the third quarter would result in
two consecutive quarters where the youth services grant
is awarded:

< W

2
wW
Y

or:

=
< w
<=»
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In both cases, two youth services grants would be awarded
in consecutive quarters, in violation of the third condition.

To see that each of the other answer choices could be true,
it will suffice to construct a possible outcome for each one
that is consistent with the supposition given in the question
and the conditions in the passage. Consider the following
possible outcome:

1
T

<=ZN

A quick check of the conditions shows that this satisfies all
of the conditions for the problem:

e A wildlife preservation grant and a youth services grant are
awarded in the same quarter of a particular calendar year.

e Grants are awarded in all four areas. (The table includes at
least one of each of the four letters—M, T, W, and Y.)

e No more than six grants are awarded. (The table contains
exactly six entries.)

e No grants in the same area are awarded in the same quar-
ter or in consecutive quarters. (In the table above, only T
and M are repeated, and neither repetition appears |‘h(

same or consecutive columns.)

e Exactly two medical services grants are awardid table
contains exactly two M’s, in columns 2 and 4.)
-—

e A wildlife preservation grant is awarded "n zue second quarter.
-

Notice that in this possible outcom a'lméc'ipal services
grant is awarded in the second uart!(ans er choice (A))
and a theater arts grant is awar@led in the irst quarter (answer
choice (B)). So answer chom@s ) and (B) are both incorrect.

Now consider the followi ssible outcome:
< u

1 2 4"\
M T W

W Y

Hs -

A check of'the conditions shops that this satisfies the sup-
position and alljof the conditiors. In this outcome, a theater
arts grant is awlarded in the second quarter (answer choice
(C)) and a wildlffe preservationfgrant is awarded in the fourth
quarter (answer ice (D). So answer choices (C) and (D) are
also incorrect.

This was a d|ff‘t3| uestion, based on the number of test
takers who answered it correctly when it appeared on the
LSAT. The most commonly selected incorrect answer choice
for this question was response (A).

Passage for Questions 5 and 6

From a group of seven people—J, K, L, M, N, P, and Q—
exactly four will be selected to attend a diplomat’s retirement
dinner. Selection conforms to the following conditions:
Either J or K must be selected, but J and K cannot both
be selected.
Either N or P must be selected, but N and\Picannot
both be selected. . ‘\
N cannot be selected unless L is select
Q cannot be selected unless Kis seleeted. / }

If P is not selected to attend thé"'r'etireinent dinner, then ex-

actly how many different grqlups of folr are there each of
which would be an acc pqalalehselectiorr

. :
»BY

=

Question 5 r \

z
b

(
(
(
(

Explana or Question 5

This question s Aew supposition to the original set of
conditions#"P is not selected to attend the retirement din-

er.” The t3sk is to determine all of the different possible
selections that are compatible with this new supposition. A
compatible solution is one that violates neither the new
supposition nor the original conditions.

Since the second condition states “[e]ither N or P must be
selected ... ,” we can infer from the new supposition (P is not
selected) and the second condition (either N or P, but not
both, is selected) that N is selected. And since N is selected,
we know from the third condition that L is selected. In other
words every acceptable selection must include both L and N.

We are now in a good position to enumerate the groups of
four which would be acceptable selections. The first condition
specifies that either J or K, but not both, must be selected. So
you need to consider the case where J (but not K) is selected
and the case in which K (but not J) is selected. Let's first con-
sider the case where J (but not K) is selected. In this case, Q is
not selected, since the fourth condition tells you that if K is
not selected, then Q cannot be selected either. Since exactly
four people must be selected, and since P, K, and Q are not
selected, M, the only remaining person, must be selected.
Since M’s selection does not violate any of the conditions or
the new supposition, N, L, J, and M is an acceptable selec-
tion; in fact, it is the only acceptable selection when Kis not
selected. So far we have one acceptable selection, but we
must now examine what holds in the case where K is selected.
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Suppose that K'is selected. In this case J is not selected, but
Q may or may not be selected. If Q is selected, it is part of an
acceptable selection—N, L, K, and Q. If Q is not selected, re-
membering that J and P are also not selected, M must be
selected. This gives us our final acceptable selection—N, L, K,
and M.

Thus there are exactly three different groups of four which
make up acceptable selections, and (C) is the correct response.

This was a difficult question, based on the number of test tak-
ers who answered it correctly when it appeared on the LSAT.

Question 6
There is only one acceptable group of four that can be se-

lected to attend the retirement dinner if which one of the
following pairs of people is selected?

(A) JandL
(B) KandM
(C) LandN
(D) LandQ
(E) MandQ

Explanation for Question 6

The way in which this question is phrased is rather complex,
and so it is important to get very clear what exactly is being
asked. Unlike other questions which give you a new su sk.
tion to consider in conjunction with the original conditiops
this question asks you to determine what is neede fdl—
tion to the original conditions, to guarantee tha‘only

group of four is acceptable.

One way to approach this question is to cor8ider each op-
tion individually, and determine for each fp jon whether only
one acceptable group of four can besselected when the pair
indicated in the option is selected. Yo@i may*wish to vary the
order in which the options are considdred ajqarding to per-
sonal preferences. In the discugsion here,\we will consider the
answer choices in order from (A) through to.(E).

Choice (A): When both J are selected, K cannot be se-
lected (first condition). Consequently Q cannot be selected
(fourth copidition). More than o ég%tp of four is acceptable
under these circumstances, how , L, M, and N may be
selected, énd J, L, M, and P maybe selected.

Choice (B):Whem K and M are both selected, J cannot be
selected (firstscondition). Otherfthan that, anyone else could
be selected. This leaves more than one acceptable group of
four. K, L, M, ald N may be selected; K, L, M, and P may be
selected; and M, P, and Q may be selected.

Choice (C L and N are both selected, P cannot be se-
lected second c dition), but, as in the case of option (B),
anyone else can be ected. This leaves more than one ac-
ceptable group of fo‘ur J, L, M, and N may be selected; K, L, M,
and N may be selected; and K, L, N, and Q may be selected.

Choice (D): When L and Q are both selected, K must be
selected (fourth condition). Consequently J cannot be selected
(first condition). Either N or P must be selected (second con-
dition), and there is nothing that rules out either N or P from
being selected here. So, more than one group of four is
acceptable under these circumstances: K, L, N, and Q may
be selected, and K, L, P, and Q may be selected.

Choice (E): When M and Q are both selected, K must be
selected (fourth condition), and hence J cannet Be selected
(first condition). Furthermore, N cannot be §elected: if N were
selected, then L would also have to be sel.e-cted)h‘ird condi-
tion), and this would violate the restriction that xa@tly four
people are to be selected. And si 'N cannot basselected,

P must be selected (second condition). Thus whea M and Q
are both selected, both K and P%ustie selected as well, and
only one group of four—K, Iyl P, and @1 acceptable. (E) is
therefore the correct re ppnﬁe
This was a yery difﬂc{ question, based on the number
K€rs who answi re_ii |‘$Eorrect|y when it appeared

estions 7 and 8

Saturday, a student will perform six activities—

grocery s ing, hedge trimming, jogging, kitchen cleaning,
laundry, andimotorbikg servicing. Each activity will be performed
once, one at ati gﬁwe order in which the activities are
performed§§ subject to the following conditions:

Grocery shopping has to be immediately after hedge
trimming.

Kitchén cleaning has to be earlier than grocery shopping.

Motorbike servicing has to be earlier than laundry.

Motorbike servicing has to be either immediately before
or immediately after jogging.

Question 7

If laundry is earlier than kitchen cleaning, then hedge trimming
must be

(A) Aifth

(B) fourth
(C) third
(D) second
(E) first

Explanation for Question 7

This problem is concerned with determining the order in
which six activities will be performed. As with many questions
involving relative ordering or ranking, it is likely that you will
find it useful to diagram the various relationships given in

the passage.
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The first condition in the passage tells us that grocery shop-
ping has to be immediately after hedge trimming, which we
can abbreviate as follows:

1. HG

The second condition tells us that kitchen cleaning has to
be earlier than grocery shopping, which we can abbreviate as
follows, where “..." is used to represent “earlier than” (which
means any time before, including immediately before):

2. K...G

The third condition tells us that motorbike servicing has to
be earlier than laundry, and the fourth condition tells us that
motorbike servicing has to be either immediately before or
immediately after jogging. These conditions can be abbrevi-
ated as follows, where the / symbol is used to represent “or”:

3. M...L
4. MJ/IM

Notice that the information specified in these four condi-
tions can be collapsed into two ordering statements:

I. K...HG (first and second conditions)

II. MJ/JM...L (third and fourth conditions)

Question 7 introduces the new supposition “| %y{

earlier than kitchen cleaning”:
1-

L...K

This new supposition works to furth ajl*épee the ordering
statements in | and Il to the single sta(men pelow; that is, if
L must be earlier than K, then know th‘t e activities must
be ordered like this: 9 o

MMl K “HG
i
So, wit}‘(t(he addition of the neW supposition, there are ex-

actly two possible orderings of tie six activities, differing only
with respectfo whether motorbike servicing is immediately

before or mfhed:rtey afterjjmg

Question 7 asks t position hedge trimming must be in,
given the new supp05|t|on What we see here is that hedge
trimming must be the fifth activity performed, and so answer
choice (A) is correct.

This was an easy question, based on the number of test tak-
ers who answered it correctly when it appeared on the LSAT.
The most commonly selected incorrect answer choices were
response (B) and response (C).

Question 8

Which one of the following, if substituted for tm condition

that motorbike servicing has to be earlier th ndry, would
have the same effect in determining the or@?e student’s

activities?

(A) Laundry has to be one of the three ac’EN

(B) Laundry has to be either im d|ate|y befor
immediately after jogging:

(C) Jogging has to be edrligr than la{no'ry.

D

(D) Laundry has to be' arligrithan hecgé trimming.
has to b‘iarlejr an jogging.

Motorbike servicing has to be
earlier than laundry.

nditi(-)?

, you can deduce that the correct answer

In this ca
choice is (Q):

(C) Jogging has to be earlier than laundry.

The fourth condition in the passage tells you that motorbike
servicing has to be either immediately before or immediately
after jogging. That is, M and J must be ordered as a block, ei-
ther MJ or JM, with respect to the other four activities. Thus,
if, as the original third condition states, M has to be earlier
than L, then we know that J must also be earlier than L. Con-
versely, if, as the new condition in answer choice (C) states, J
has to be earlier than L, then we know that M must also be
earlier than L. In short, the third condition and answer choice
(C) have exactly the same effect. Therefore, answer choice (C)
is correct.

Another way to approach this kind of question is to attempt
to eliminate all of the incorrect answer choices. Under this ap-
proach, you want to rule out any answer choice that does
either of the following:

e rules out outcomes that the original condition allows

e allows outcomes that the original condition rules out
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Let's see how this approach would enable us to eliminate
answer choices (A), (B), (D), and (E).
Consider the condition presented in answer choice (A):

(A) Laundry has to be one of the last three
activities.

We can first ask whether this condition would rule out out-
comes that the original third condition allows. To answer this
question, we must simply determine whether there is an out-
come allowed by the original third condition along with the
other conditions in which laundry is one of the first three ac-
tivities. Here is such an outcome:

1 2 3 4 5 6
M J L K H G

Because the original third condition allows this outcome,
but the condition in answer choice (A) does not, answer
choice (A) cannot be correct.

Consider answer choice (B):

(B) Laundry has to be either immediately
before or immediately after jogging.

Again, we want to first determine whether this new condi-
tion would rule out outcomes that the original third condition
allows. To answer this question, we must simply determ
whether there is at least one outcome allowed by the or
third condition along with the other conditions i |n
dry is neither immediately before nor |mmed|at
jogging. Here is one such outcome:

1 2 3 4 5 '
K H G J Vi
1~
This outcome, although allowed by{e oriinal third condi-

tion, would be ruled out by thefalternative,condition given in
answer choice (B). Thus, ans e choice (B) cannot be correct.

Next consider answer ch :
Wy

(D) L(ﬂndry has to be earliJN hedge trimming.

(.

Again, we want to first determine whether this new condition
would rule out outcomes that the original third condition allows.
To answer this question, we must simply determine whether
there is at least one outcome allowed by the original third con-
dition along with the other conditions in which laundry is not
earlier than hedge trimming. One such outcome was given im-
mediately above: since L is not earlier than H in this outcome it
would be ruled out by the condition in answergheice (
answer choice (D) rules out an outcome that gmal thlrd
condition allows, and therefore (D) cannot bﬁet rect an-
swer choice.

Finally, consider answer choice_ Eﬂ ‘-’

.

(E) Laundry has to be earlier(an jogging. r
- i

condition would rule olt@utgomes thaﬁre allowed when the
orlglnaf\hlr onditionis in ﬁ)ﬁ;e To answer this question, we

Again, we want to first deﬁr{:ine V\)"eth'er having this new

ermine WhetHer there is at least one outcome
riginal third condition along with the other

s given above: since L is not earlier than J in
ould be ruled out by the condition pre-
r choice (E). So, answer choice (E) rules out an
he original third condition allows, and there-
t be thegcorrect answer choice.
b_ es (A), (B), (D), and (E) can all be elimi-
e in each case the condition is one that rules out
outcomes that the original condition allows. For this particular
question, there was no need to consider whether any of the
options c‘uld be eliminated because they allowed outcomes
that the original condition ruled out.

This question was of middle difficulty, based on the
number of test takers who answered it correctly when it
appeared on the LSAT. The most commonly selected
incorrect answer choices were response (A) and response (B).
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LOGICAL REASONING QUESTIONS

Arguments are a fundamental part of the law, and analyzing
arguments is a key element of legal analysis. Training in the law
builds on a foundation of basic reasoning skills. Law students must
draw on the skills of analyzing, evaluating, constructing, and refut-
ing arguments. They need to be able to identify what information
is relevant to an issue or argument and what impact further
evidence might have. They need to be able to reconcile opposing
positions and use arguments to persuade others.

Logical Reasoning questions evaluate the ability to analyze,
critically evaluate, and complete arguments as they occur
in ordinary language. The questions are based on short
arguments drawn from a wide variety of sources, including
newspapers, general interest magazines, scholarly publica-
tions, advertisements, and informal discourse. These
arguments mirror legal reasoning in the types of arguments
presented and in their complexity, though few of the argu-
ments actually have law as a subject matter.

Each Logical Reasoning question requires you to read and
comprehend a short passage, then answer one question (or,
rarely, two questions) about it. The questions are designed to
assess a wide range of skills involved in thinking critically, with
an emphasis on skills that are central to legal reasoning.

These skills include:
e Recognizing the parts of an argument and their relatioﬂw&

e Recognizing similarities and differences betweewat rnss

of reasoning '
y

-
14

d - \

e Recognizing misunderstandings org)ints

e Drawing well-supported conclusions
e Reasoning by analogy
disagreement
e Determining how additi%a]' vidence affects an argument
o Detecfin assgmptio‘ns made‘,' articular arguments

e Identifying and applying princmr rules

e Identifyingflawsgin argument

S
e Identifying eﬁnat'ons
-~

The questions do not presuppose specialized knowledge of
logical terminology. For example, you will not be expected to
know the meaning of specialized terms such as “ad hominem”
or "syllogism.” On the other hand, you will be expected to
understand and critique the reasoning contained in arguments.
This requires that you possess a university-level understanding
of widely used concepts such as argument, premise, assump-

tion, and conclusion. 14 (

Read each question carefully. Make“st( that yjldJ‘erstand
the meaning of each part of the q ion. Makéssgre that you
understand the meaning of each swer choice ahd the ways
in which it may or may not relat&%o th qaei‘uon posed.

Do not pick a response Siniply bec seitis a true state-

ment. Although true, | t answer e question posed.
Answer ea questlc{:(')‘nyt%e asis o the information that
i o'not

Suggested Approach

enifyoud fee with it. Work within the
provieed by the p sage. LSAT questions do not
e any trick§ or hidden'meanings.

&
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Nine Sample Logical Reasoning Questions and Explanations

The sample questions on the following pages are typical of the logical reasoning questions you will find on the LSAT.

Directions: The questions in this section are based on the reasoning contained in brief statements or passages. For some
questions, more than one of the choices could conceivably answer the question. However, you are to choose the best answer;
that is, the response that most accurately and completely answers the question. You should not make assumptions that are by
commonsense standards implausible, superfluous, or incompatible with the passage. After you have chosen thg best answer,

blacken the corresponding space on your answer sheet.

Question 1

Laird: Pure research provides us with new technologies that
contribute to saving lives. Even more worthwhile than this,
however, is its role in expanding our knowledge and
providing new, unexplored ideas.

Kim: Your priorities are mistaken. Saving lives is what counts
most of all. Without pure research, medicine would not be
as advanced as it is.

Laird and Kim disagree on whether pure research

(A) derives its significance in part from its providing
new technologies

(B) expands the boundaries of our knowledge of medicine

(C) should have the saving of human lives as an

applications 4
(E) has any value apart from its role in providir‘i e
technologies to save lives )

important goal (
(D) has its most valuable achievements in medical J

<14

This question asks you to identify the(omt onwhich Laird
and Kim disagree with respect o pure'reseakéh. Laird identi-
fies two contributions of pure research: itsimedical
applications ("‘technologieqI contributeto saving lives”)
and its rol&in expanding knovWledge and providing new
ideas. Of the$g, Laird considers econd contribution to be
more worthwhile. Kim, on the othler hand, maintains that
"Saving lives is what counts mosflof all.” Since pure research
saves lives through medical appljcations, Kim disagrees with
Laird about whethe&r pure research has its most valuable
achievements edical applicgtions. The correct response,
therefore, is (D)

Response (A)jis incorrect sincg we can determine, based on
their statements, that Laird and Kim agree that pure research
"derives its signfff€ance in part from its providing new tech-
nologies.” Lairdexplicitly cites the value of pure research with
respect to providin&ew technologies. Kim indicates agree-
ment with (A), at least in the case of medical technologies, by
asserting that “Without pure research, medicine would not be
as advanced as it is.”

Explanation for Question 1

L
Response (B) is incorrect since we can deteﬂmine,f,segi on their
statements, that Laird and Kim woqld*keﬂy agree that pure re-
search “expands the boundaries of koowledgéo edicine.”
Laird notes that pure research provides us with new teéchnologies
that have medical applications. Kifff points out that “Without pure
research, medicine would n'bt‘)e as adv?]ced asitis.”

Response (C) is incort, ct. ﬁi‘m indicatFagreement that
pure resgarc ”shouldfave the saving of human lives as an
i Atigoak since Kim's Jsition is that “Saving lives is
ounts rbst of all.” Sihde Laird cites the saving of lives

as should be an even more important goal of
pure resear@n. The sage activity can of course have more than
one goal. g )‘l

Responsel(E) is incorrect. Laird clearly agrees that pure
research has value “apart from its role in providing new
technolodies to save lives,” given that Laird explicitly cites a
second Wé-y in which pure research is valuable. However,
nothing in what Kim says suggests disagreement with (E). Kim's
position is that the greatest value of pure research is its role in
providing new technologies to save lives. We cannot infer from this
that Kim believes this role to be the only value of pure research.

This question was of medium difficulty, based on the number
of test takers who answered it correctly when it appeared on
the LSAT.

Question 2

Executive: We recently ran a set of advertisements in the print
version of a travel magazine and on that magazine’s website.
We were unable to get any direct information about
consumer response to the print ads. However, we found that
consumer response to the ads on the website was much
more limited than is typical for website ads. We concluded
that consumer response to the print ads was probably below
par as well.

The executive's reasoning does which one of the following?

(A) bases a prediction of the intensity of a phenomenon
on information about the intensity of that
phenomenon’s cause

(B) uses information about the typical frequency of
events of a general kind to draw a conclusion about
the probability of a particular event of that kind
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(C) infers a statistical generalization from claims about
a large number of specific instances

(D) uses a case in which direct evidence is available to
draw a conclusion about an analogous case in
which direct evidence is unavailable

(E) bases a prediction about future events on facts
about recent comparable events

Explanation for Question 2

This question asks you to identify how the executive's reason-
ing proceeds. The ads discussed by the executive appeared
in two places—in a magazine and on the magazine's website.
Some information is available concerning the effect of the
website ads on consumers, but no consumer response infor-
mation is available about the print ads. The executive’s
remarks suggest that the ads that appeared in print and on
the website were basically the same, or very similar. The exec-
utive reasoned that information about the effect of the
website ads could be used as evidence for an inference about
how the print ads likely performed. The executive thus used
the analogy between the print ads and the website ads to in-
fer something about the print ads. (D), therefore, is the
correct response.

Response (A) is incorrect. The executive's conclusion about
the likely consumer response to the print ads does not consti-
tute a prediction, but rather a judgment about events that
have already transpired. Moreover, the executive's cono‘i(
is not based on any reasoning about the cause of the cop-
sumer response to the print ads. j ;

Response (B) is incorrect. The executive does cgnclud€ that
certain events are likely to have transpired on theuis of what
was known to have transpired in a similar case, BUt no distinc-
tion can be made in the executive’s argument between events
of a general kind and a particular evesit of that kind. There are
two types of event in play in the exec - X #rgument and they
are of the same level of generality—th& respdnse to the
website ads and the response t@ the print ads.

Response (C) is mcorrectg executive does not infer a sta-
tistical generallz tion, whic Id involve generalizing about
a populatlo" on the basis of a stafistical sample. The execu-
tive merely draws a conclusion \‘u\he likely occurrence of
specific eVents.

Response (E) is also incorrect. The executive does use the
comparabilityfof the print and website ads as the basis for the
conclusion drawn;.however, as foted above, the executive’s
conclusion abodt the likely congumer response to the print
ads does not cpnstitute a predigtion about future events, but
rather a judgme@nt about events that have already transpired.

This was an edgy question, based on the number of test tak-
ers who answeregd. it correctly when it appeared on the LSAT.

Question 3

During the construction of the Quebec Bridge in 1907, the
bridge’s designer, Theodore Cooper, received word that the
suspended span being built out from the bridge’s cantilever

was deflecting downward by a fraction of an inch (2.54
centimeters). Before he could telegraph to freeze the project,
the whole cantilever arm broke off and plunged, along with
seven dozen workers, into the St. Lawrence River. It was the
worst bridge construction disaster in history. As a direct result
of the inquiry that followed, the engineering “rules of thumb”
by which thousands of bridges had been built around the
world went down with the Quebec Bridge. Twéntieth-century
bridge engineers would thereafter depend om farmore
rigorous applications of mathematical anal

Which one of the following statem&mts“can be /mﬂy
inferred from the passage? r

(A) Bridges built before about™907 were built W|thout
thorough mathemz}tiial analys&and, therefore,
were unsafe for p}bllc to us

(B) Coepers absencdfrom h&Quebec Bridge

oiﬁt&tion site resule in the breaking off
of the etntilever.

(C ineteenth-century bridge engineers relied on
thieir rule of thumb ecause analytical methods
ware ingdequate to solve their design problems.

D) Onlyfa m@re rigorous application of mathematical

to the design of the Quebec Bridge

have preyented its collapse.

thé mathematical analysis incorporated

ineering rules of thumb was insufficient to
completely assure the safety of bridges under
construction.

¥
Explanation for Question 3

The question asks you to identify the response that can be prop-
erly inferred from the passage. The passage indicates that the
Quebec Bridge disaster in 1907 and the inquiry that followed
caused the engineering “rules of thumb” used in construction of
thousands of bridges to be abandoned. Since the Quebec
Bridge disaster in 1907 prompted this abandonment, it can be
inferred that these were the rules of thumb under which the
Quebec Bridge was being built when it collapsed and that these
were the rules of thumb used in bridge building before 1907.
Further, since the Quebec Bridge collapsed while under con-
struction and the rules of thumb being used were abandoned as
a result, it can be inferred that the rules of thumb used in build-
ing the Quebec Bridge and bridges prior to 1907 were
insufficient to completely assure the safety of bridges under con-
struction. Finally, since the alternative that was adopted in place
of the old engineering rules of thumb was to “depend on far
more rigorous applications of mathematical analysis,” it can be
inferred that the mathematical analysis incorporated in the engi-
neering rules of thumb used prior to 1907 made them insufficient
to completely assure the safety of bridges under construction.
Thus, (E) is the correct response.

Response (A) is incorrect. (A) asserts that bridges built before
about 1907 were unsafe for the public to use because they were
built without thorough mathematical analysis. But this conclusion
goes far beyond what is established by the passage. The pas-
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sage gives evidence only about the safety of bridges built before
1907 while they were under construction. It is silent on whether
bridges built before about 1907 were safe when open for use by
the public. Moreover, the passage indicates that the rules of
thumb used in bridge construction before 1907 were abandoned
because the use of those rules did not provide adequate assur-
ance of safety for bridges under construction. It does not follow
that bridges built using those rules of thumb (those built before
about 1907) actually were unsafe, either while under construction
or when open for public use.

Response (B) is incorrect in claiming that Cooper's absence
from the construction site caused the breaking off of the can-
tilever. The passage does not establish that, had Cooper
been at the site, he could have successfully intervened to pre-
vent the cantilever from breaking off. By freezing the project,
he might have spared lives by stopping work, but there is
nothing in the passage to indicate that he necessarily would
have prevented the collapse.

Response (C) is incorrect; there is no evidence in the pas-
sage about why nineteenth-century bridge engineers relied
on their rules of thumb.

Response (D) is also incorrect. While the passage suggests
that a more rigorous application of mathematical analysis
would have prevented the collapse of the bridge, it offers no
evidence that it is the only way the collapse could have been
prevented. For example, it might have been prevented had
corrective measures been taken in time.

This question was of medium difficulty, based on the “
ber of test takers who answered it correctly when it ap?are

on the LSAT.
M

The supernova event of 1987 is interesting at there is still no
evidence of the neutron star that curreft t £ says should have
remained after a supernova of that sze( i€ imspite of the fact
that many of the most sensitive.instruménts evier'developed
have searched for the tell-tale pdlse of rad# that neutron
stars emit. Thus, current thec%i wrong in claiming that
supernovgs‘?f a gertain size always produce neutron stars.

Question 4

Which on(mc the following, if trU‘ J st strengthens the

argumen

(A)  Most supernava remnants that astronomers have
detected have a neutronjstar nearby.

(B) Sensitive astronomical instfuments have detected
neutronfstars much farther away than the location
of the 1987 supernova,

(C) The superigWa of 1987/ was the first that scientists
were ablegto observe in progress.

(D) Several importént features of the 1987 supernova
are correctly predicted by the current theory.

(E) Some neutron stars are known to have come into
existence by a cause other than a supernova
explosion.

Explanation for Question 4

This question asks you to identify the response that most
strengthens the argument. The argument concludes that “cur-
rent theory is wrong in claiming that supernovas of a certain
size always produce neutron stars” based on the observation
that no evidence has been found of a neutron star left behind
by the supernova event of 1987. However, the h' re to find ev-
idence of the predicted neutron star does f ssarily
indicate that such evidence does not exist. | yl tead indi-

cate that the instruments used to search fomthe enge are
not powerful enough to detect a neﬁtre'n star inffhe &rea where
the 1987 supernova event occurre he argumentgwould thus
be strengthened if there was evidehce that the sedrch instru-

ments used would in fact be cap'5f)|e fi nl\g the predicted
neutron star if that star exﬁtdﬂ Respo se (B) provides such evi-
dence. If "sensitive astr nq | instrunfents have detected
neutron\tar uch far{er away than the location of the 1987

' n it is less hkejﬁchat the predicted neutron star
f “the most sensitive instru-

) is the correct response.

nants detedled to date are consistent with the current theory’s
claim that su of a certain size always produce neu-
tron stars. (), therefore, lends no support to the argument
that the cufrent theory is wrong in this claim.

Response (C) reports that the supernova of 1987 was the first
supernovz!fthat scientists were able to observe in progress. This
information has no direct bearing on the question of whether
this event produced a neutron star and thus cannot be used to
strengthen the argument that the current theory is wrong.

Response (D) asserts that several important features of the
1987 supernova are correctly predicted by the current theory.
This bolsters the support for the current theory and would
thus, if anything, weaken the argument that the current theory
is wrong.

Response (E) reports that not all neutron stars are the prod-
ucts of supernova events. Since this information pertains to
neutron stars that were not produced by supernovas, it is irrel-
evant to the question of whether all supernovas of a certain
size produce neutron stars, as the current theory claims.
Hence, (E) lends no support to the argument.

This was a difficult question, based on the number of test tak-
ers who answered it correctly when it appeared on the LSAT.
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Question 5

Political scientist: As a political system, democracy does not
promote political freedom. There are historical examples of
democracies that ultimately resulted in some of the most
oppressive societies. Likewise, there have been enlightened
despotisms and oligarchies that have provided a remarkable
level of political freedom to their subjects.

The reasoning in the political scientist’s argument is flawed
because it

(A)  confuses the conditions necessary for political freedom
with the conditions sufficient to bring it about

(B) fails to consider that a substantial increase in the
level of political freedom might cause a society to
become more democratic

(C) appeals to historical examples that are irrelevant to
the causal claim being made

(D) overlooks the possibility that democracy promotes
political freedom without being necessary or
sufficient by itself to produce it

(E) bases its historical case on a personal point of view

Explanation for Question 5

This question asks you to identify how the reasoning in the
political scientist's argument is flawed. The argument ba

its conclusion—that democracy does not promote political
freedom—on two sets of historical examples. The 8 sgfiof #
examples demonstrates that democracy is not suffigient¥or
political freedom, and the second set demons hat de-
mocracy is not necessary for political freedom. But it does not
follow from these examples that democraky@oes not promote
political freedom. Even if democracy 'nat, Dy itself, sufficient
for political freedom, it can still promoffe politidal freedom by
contributing to it in most instanges. Even if d1rﬁocracy is not
necessary for political freedom, it can still k¥ rue that democ-
racy is something that pronqe political freedom wherever it

is found..'ll"rw;,;m is the correcfiresponse.

Responsg«(A)is incorrect. The pofitical scientist's argument
does not jndicate that any particllar donditions are necessary
for politicﬁrfreedom, nor does itfindicate that any particular
conditions are sufficient to bringlabout political freedom.
Thus the argtfmenfcould not be'said to confuse these two

sorts of conditiops: Rather, the golitical scientist’s argument
attempts to defonstrate that democracy does not promote
)

political freeddm on the grounds that democracy is neither
necessary nor swfficient for bringing about political freedom.
Response (B correct. The argument does fail to con-
sider whether a smbstantial increase in the level of political
freedom would cause a society to become more democratic,
but this does not constitute a flaw in its reasoning. The truth
of the claim that increased political freedom causes greater
democratization would not by itself undermine the political
scientist’s conclusion that democracies do not promote politi-
cal freedom. Nor does that claim engage with the argument’s

premises, which are concerned with the effect of democracy
on political freedom, not the effect of political freedom
on democracy.

Response (C) is incorrect. The “causal claim being made”
could only be the argument’s conclusion that democracy does
not promote political freedom, which denies that there is a
causal connection between democracy and political freedom.
The historical examples in the argument are rélevant to this
claim, however. These examples are an impoatartt part of the
larger body of historical evidence that one Would look to
when investigating the issue of whether democr pjomotes
political freedom. , V. L

Response (E) is also incorrect. T F;olitical sciengist does
not express a personal point of vi or base the Historical ex-
amples on such a view. On the &ntrary, tifhistorical
examples themselves areﬁrﬂmpersogl, ough flawed, basis
for the argument’s conclusioq.

This was a difficult qustion, based on the number of test tak-
ers wh ’*w d it correctly ivﬂen it appeared on the LSAT.
6 =
To geconcile the need for profits sufficient to

rug research with the moral imperative to

icines to those who most need them but cannot
: someyarmaceutical companies feel justified in
selling a drug in righ nations at one price and in poor nations

suppor
provide

with a lowlaverage income may still have a substantial middle
class better able to pay for new drugs than are many of the
poorer ditizens of an overall wealthier nation.

Which one of the following principles, if valid, most helps to
justify the journalist’s reasoning?

(A) People who are ill deserve more consideration than
do healthy people, regardless of their relative
socioeconomic positions.

(B)  Wealthy institutions have an obligation to expend
at least some of their resources to assist those
incapable of assisting themselves.

(C)  Whether one deserves special consideration depends
on one's needs rather than on characteristics of
the society to which one belongs.

(D) The people in wealthy nations should not have
better access to health care than do the people
in poorer nations.

(E) Unequal access to health care is more unfair than
an unequal distribution of wealth.
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Explanation for Question 6

The journalist states that pharmaceutical companies have
both a need for profits to support future research and a moral
obligation to provide medicines to those who most need
them and cannot afford them. In order to balance these re-
quirements they have adopted a practice of selling drugs at
lower prices in poorer countries. The journalist's conclusion is
that this practice is unjustified. To support this claim, the jour-
nalist points out that different individuals in the same nation
have differing abilities to pay, but this consideration does not,
by itself, establish that the pharmaceutical company’s policy is
unjustified. The question asks you to choose the principle that
would most help to justify the journalist’s reasoning.

The principle stated in response (C) connects the question
of whether special consideration is deserved to personal,
rather than societal, needs. The pharmaceutical companies’
practice provides special consideration based on the charac-
teristics of one's society, and not based on one’s personal
needs. As a result, according to this principle, the practice
tends to deny special consideration to some who deserve it
(the poorer citizens of wealthier nations), while giving special
consideration to some who do not deserve it (the middle
class citizens of poorer nations). In this way the practice is fail-
ing to meet the pharmaceutical companies’ obligation to
provide special consideration for those who most need the
drugs and cannot afford them, and, in giving undeserved spe-
cial consideration, failing to generate income that coul*a&e;
been used to support new drug research. The principl (
thereby provides strong support for the Joumahst* ning
that the pharmaceutical companies’ practice is TJ stiffed.
Thus, (C) is the correct response.

The principle stated in response (A) applies ¥ balancing the
consideration deserved by ill people ancih althy people.
However, the pharmaceutical compafiy’s ctice, and the
journalist’s argument against that praif €hcerns only ill
people (that is, people who need drugds). Ad afresult, re-
sponse (A) is not relevant to th Journallst‘s asoning.

The principle stated in (B) requires that wealthy institutions use
some of their reseurces to ai se in need. This tends to affirm
the pharr?wa%eutrigal companies’ m3kal imperative to provide
medicinegfto those who need théill bug cannot afford them.
However, this principle gives no supportto the journalist’s rea-
soning, which contends that the pfiarmaceutical companies’
pricing policyis notpjustiﬂed by this moral imperative.

The principle stated in (D) that people in wealthy nations
should not havg better access t@ health care than those in
poorer nationsy is a principle that tends to support the com-

panies’ practic§, because the gompanies’ practice is one that
tends to lessen health cafe disparities between wealthy
and poorer natiogs. For this reason,
to the journalist's re omng

The principle stated in (E) concerns whether an unequal dis-
tribution of health care or an unequal distribution of wealth is
more unfair. However, this is a different issue than the one the
journalist is addressing. Response (E) is thus not relevant to
the journalist’s reasoning.

(D) actually runs counter

This was an easy question, based on the number of test tak-
ers who answered it correctly when it appeared on the LSAT.

Question 7

Several critics have claimed that any contemporary poet who
writes formal poetry—poetry that is rhymed and metered—is

performing a politically conservative act. Thlst lainly false.
Consider Molly Peacock and Marilyn Hacker, ntemporary
poets whose poetry is almost exclusively fo | yet who

are themselves politically progresswe femnl'nsts

The conclusion drawn above follofloglcally if \Nrfh one of

the following is assumed?

(A) No one whois aiem‘w‘t is also !ktlcally

conservative.

1 %
o\o Qho wn‘s unrfymed or unmetered
'o!tryl politically conservative.

is politically progressive is capable of

sometimes writes poetry that is not
conservative never writes poetry that is

Explanation for Question 7

This ques{i‘on asks you to identify the option containing infor-
mation that makes the conclusion of the argument follow
logically. The conclusion of the argument is that it is false that
any contemporary poet who writes formal poetry is performing
a politically conservative act. To draw this conclusion logically,
one only needs to show at least one contemporary poet who is
writing formal poetry and is not thereby performing a politically
conservative act. Showing such an instance would provide a
counterexample to the claim attributed to the critics, demon-
strating that the critics’ generalization is false.

The premise given is that there are two contemporary and
politically progressive feminist poets who write formal po-
etry—Molly Peacock and Marilyn Hacker. If no one who is
politically progressive is capable of performing a politically
conservative act, and Peacock and Hacker are politically pro-
gressive, it follows logically that neither is capable of
performing a politically conservative act. Since both write for-
mal poetry, their writing of formal poetry cannot be a
politically conservative act. This shows that one can write for-
mal poetry without performing a politically conservative act,
so (C) is the correct response.

If it is true that no one who is a feminist is politically conser-
vative, as response (A) says, we can conclude that Peacock
and Hacker, who are identified as being feminists, are not po-
litically conservative. But we already knew this, as they were
also identified as being politically progressive. As long as
people who are not themselves politically conservative are ca-



30

pable of performing politically conservative acts, the question
of whether it is possible for someone to write formal poetry
without performing a politically conservative act remains un-
answered. (A) is thus incorrect.

If no poet who writes unrhymed and unmetered poetry is po-
litically conservative, as response (B) indicates, this tells us little
about Peacock and Hacker, whose poetry, we are told, is almost
exclusively formal. Insofar as (B) may indicate that Peacock and
Hacker are not politically conservative (because they write
some poetry that is not both rhymed and metered), we already
knew this, as they are identified as being politically progressive.
Since the argument works by presenting Peacock and Hacker
as counterexamples to the claim that to write formal poetry is
to perform a politically conservative act, (B) contributes nothing
in the way of additional support for the conclusion.

Response (D) says that anyone who sometimes writes poetry
that is not politically conservative never writes poetry that is
politically conservative. However, to make the conclusion of
the argument follow logically, one must show that some con-
temporary poets who write formal poetry are sometimes not
performing a politically conservative act. The information in
(D) is not applicable to this question.

Response (E) concerns the effects of the content of a poet's
work on determining the political consequences of the work.
However, the question that must be answered is whether any
contemporary poet who writes formal poetry is performing a po-
litically conservative act, not what the consequences of that
poetry might be. The question of whether writing a partic
poem is a politically conservative act is different from the es&
tion of what that poem'’s political consequences will z
Moreover, because the content of neither Peacodf nor Macker's
work has been specified, (E) does not even allow u draw a
conclusion about the political consequences of Their work.

This was a difficult question, based on ghe.number of
test takers who answered it correctlyawhe zappeared on
the LSAT. ( %

‘.r

Situation: 4In theiisland na& f Bezun, the government
taxes gasoline heavily in order teiinduce people not to
drive. It ises the revenue fro e gasoline tax to subsidize
electricity in order to reduce prices charged for electricity.

Question 8

Analysis:  The greater the succéss achieved in meeting the
first of thesesobjectives, the ldss will be the success
achieved in meeting the secofid.

The analysis pr@vided for the situation above would be most
appropriate in Whiich ene of the following situations?

A library cﬁgrgFa late fee in order to induce
borrowers to return books promptly. The library
uses revenue from the late fee to send reminders
to tardy borrowers in order to reduce the incidence
of overdue books.

A mail-order store imposes a stiff surcharge for
overnight delivery in order to limit use of this

A)

(B)

option. The store uses revenue from the
surcharge to pay the extra expenses it incurs
for providing the overnight delivery service.

The park management charges an admission fee
so that a park’s users will contribute to the park’s
upkeep. In order to keep admission fees low, the
management does not finance any new projects
from them. q

A restaurant adds a service charge in“or *o
spare customers the trouble of individlual #ips.
The service charge is then shared among
restaurant’s workers in order‘o augmen héir
low hourly wages. .

(E) The highway administration (Earges a toll for

crossing a bridge in ordéfto get motorists to
use other routes. Iﬂuiss the reende from that

D)

toll to generate erve fund i | rder to be
able gne day t UI| ew bridge.
1 j
Expléination for Questioh

This question pfesents an analysis of a situation and asks you
select,ffrom @mong the options, another situation for which
he analy§is is @ppropriate. The analysis states that the two

objectivesidggcribed in the original situation are related in
such a way tiat more spccess in the first objective, the reduction
of driving, wil ul less success in the second, a reduction

in the pricefof electricity. To see this, suppose that the gaso-
line taxes mMentioned in the passage prove successful in
inducing people not to drive. This would mean that people
would haye a diminished need to purchase gasoline, since
they do not drive as much. Since less gasoline is being pur-
chased, there is less revenue from taxes on gasoline
purchases. There is therefore less revenue from the gasoline
tax with which to subsidize electricity. With less of a subsidy,
there will be less reduction in the prices charged for electric-
ity. Among the options, (E) is the one that presents a situation
that fits the analysis in the same way. The more motorists
there are who begin to use other routes, thus reducing bridge
traffic, the less toll money there will be for the new bridge
fund. Thus (E) is the correct response.

Response (A) is incorrect. Two devices are named, late fees
and reminders, but they share just one objective, which is de-
scribed in two ways: to get “borrowers to return books
promptly” and to “reduce the incidence of overdue books.”
Success in one is success in the other.

Response (B) is incorrect. This situation has two objectives:
to limit the use of overnight delivery service and to offset the
extra expense of the overnight delivery still requested. How-
ever, these objectives are related in such a way that success in
the first, a reduction in overnight delivery, would contribute to
success in the second by lowering the extra expenses in-
curred by the service.

Response (C) is incorrect. We cannot infer that more success
in achieving the first objective—getting park users to help
keep up the park—will cause less success in the second ob-
jective—keeping the fees low. It is conceivable that success in
the former would enable the fees to be lowered; after all, if
there were enough park users paying the fees (i.e., contribut-
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ing to the park’s upkeep), then the park management would
not have to charge a high fee—fifteen park users paying $1.00
generates more revenue than one park user paying $10.00.
Furthermore, there is nothing in the passage that functions
like the statement in (C) that management does not finance
any new projects from admission fees.

Response (D) is incorrect. The two objectives in this situa-
tion, sparing customers an inconvenience and augmenting
restaurant workers' wages, are not necessarily related in such
a way that more success in the former would cause less suc-
cess in the latter. Adding a service charge might very well
augment the restaurant workers’ wages more than they would
be augmented if no service charge is added, if the proceeds
from the service charge are greater than what the workers
would have received from individual tips.

This was a difficult question, based on the number of test tak-
ers who answered it correctly when it appeared on the LSAT.

Question 9

The ancient Romans understood the principles of water power
very well, and in some outlying parts of their empire they made
extensive and excellent use of water as an energy source. This
makes it all the more striking that the Romans made do without
water power in regions dominated by large cities.

Which one of the following, if true, contributes most to an
explanation of the difference described above in the Roifjads’
use of water power?

(A) The ancient Romans were adept at constru til‘g J
and maintaining aqueducts that could caij
quantities of water sufficient to supply Tfge cities
over considerable distances. 4

(B) Inthe areas in which water pow&r w, s&apt used,
water flow in rivers and streamgiwas €Ulstantial
throughout the year but nevert eless‘exhibited
some seasonal variation A

(C) Water power was rela’ge‘l vulnerable to sabotage,
butany d?mage cou quickly and inexpensively

reTb?rred: 3

In m@st areas to which theUie
not extended, other, mordltra
energy continued to be uged.

(E) In heavily populated areas the introduction of
water'power would havelbeen certain to cause
social unrest by depriving large numbers of
people gf their livelihood.

water power was
ional sources of

i

~

F

Explanation for Question 9

This question asks you to identify the response that does
most to explain an apparent discrepancy presented in

the passage. The first step, then, is to determine what this
discrepancy is. The passage notes the Romans’ extensive use
of water power in some outlying parts of their empire, but in
regions dominated by large cities, it says, thefidid without
water power. Given the benefits of water gower, 'an adequate
response must help answer the question ofﬁy ancient
Romans did not use water power in regions do%t@ by
large cities when they had a demor%t.réted ability t& do so.

Response (E) helps to answer th uestion. It prgsents an un-
desirable consequence that wouldthave followed ffom the use
of water power in heavily populded regions:/social unrest due
to significant loss of Ii\'/.fliht)cii By doir%t is, (E) identifies a
negative aspect of wate q;@kuse in hfgvily populated areas,
and thatigives a reasortot to,use it in regions dominated by
large cjties! Thus, (E) is the.co &ct response.
incorrect}Rather than explaining the
, it merely'describes the ancient Romans'’
ater over distances. If this has any bearing
e of water power, it would be to remove one
pefliment to the use of water power in regions
large cities; it would not give a reason that the
Romans didfwithout itin those regions.

Response (Bl 'oé:rect. While it speaks of the areas where
water powdF was not used, which would include the regions
dominatedlby large cities, it indicates the natural water supply
in those areas was substantial although seasonally variable.
This gives"-a reason to expect the use of water power in re-
gions dominated by large cities, not a reason the Romans did
without it in those regions.

Response (C) is incorrect. By noting that water power was
relatively vulnerable to sabotage, (C) presents a possible rea-
son to avoid the use of water power in important regions, but
(C) also undermines that possible reason by describing how
easily any damage could be repaired. So (C) does nothing to
explain the puzzling situation.

Response (D) indicates that “more traditional” energy
sources were used in areas without water power, which would
include the regions dominated by large cities. This may help
explain how these regions got along without water power—the
use of traditional sources prevented them from being entirely
without energy—but it adds little to our overall understanding,
since we could already presume that these regions had energy
sources. The fact that traditional sources of energy were em-
ployed in these regions does not explain why water power was
not employed there, and that question would have to be ad-
dressed in order to explain the discrepancy in the Romans’ use
of water power. Response (D) is thus incorrect.

This was a difficult question, based on the number of
test takers who answered it correctly when it appeared on
the LSAT.

all on
ossible
dominate
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THE WRITING SAMPLE

On the day of the test, you will be asked to write one sample
essay. LSAC does not score the writing sample, but copies are
sent to all law schools to which you apply. According to a 2006
LSAC survey of 157 United States and Canadian law schools,
almost all use the writing sample in evaluating at least some
applications for admission. Failure to respond to writing sample
prompts and frivolous responses have been used by law
schools as grounds for rejection of applications for admission.

In developing and implementing the writing sample portion
of the LSAT, LSAC has operated on the following premises:
First, law schools and the legal profession value highly the
ability to communicate effectively in writing. Second, it is im-
portant to encourage potential law students to develop
effective writing skills. Third, a sample of an applicant’s writ-
ing, produced under controlled conditions, is a potentially
useful indication of that person'’s writing ability. Fourth, the
writing sample can serve as an independent check on other
writing submitted by applicants as part of the admission pro-
cess. Finally, writing samples may be useful for diagnostic
purposes related to improving a candidate’s writing.

The writing prompt presents a decision problem. You are
asked to make a choice between two positions or courses of
action. Both of the choices are defensible, and you are given
criteria and facts on which to base your decision. There is no
“right” or “wrong"” position to take on the topic, so the -
ity of each test taker's response is a function not of whi
choice is made, but of how well or poorly the choi&is p-*
ported and how well or poorly the other choice iticized.

The LSAT writing prompt was designed and vam.at& by legal
education professionals. Since it involves writing based on fact
sets and criteria, the writing sample gives agplicants the opportu-
nity to demonstrate the type of argume tiye Writing that is
required in law school, although the topis are ustially nonlegal.

You will have 35 minutes in which to plan write an essay
on the topic you receive. Read the topic ahdlthe accompany-
ing directions carefully. YOL*A“ robably find it best to spend
afew miputes considering t ic and organizing your
thoughts beféfe you begin writing™ln your essay, be sure to
develop your ideas fully, leaving fimelif possible, to review
what you have written. Do not wifite onl a topic other than
the one specified. Writing on a t@pic of your own choice is
not acceptabte. L

No special Rhawledge is required or expected for this writ-
ing exercise. Law schools are inferested in the reasoning,
clarity, organizdtion, language ysage, and writing mechanics
displayed in yolur essay. How well you write is more important
than how much Yigu write. Confine your essay to the blocked,
lined area on thesiront and back of the separate Writing Sam-
ple Response Sheetﬁ)nly that area will be reproduced for law
schools. Be sure that your writing is legible.

The two example topics below are typical of decision prompts
that have been administered with the LSAT in the past.

Directions:

The scenario presented below describes two choices, either
one of which can be supported on the basis of the informa-
tion given. Your essay should consider both chajces and
argue for one over the other, based on the specified cri-
teria and the facts provided. There is no “riﬁJ s

H Fwrong”
choice: a reasonable argument can{oetmdﬂe foréithel.
! L ]

Example 1 r ' I'r.

- e ) .
Denyse Barnes, a young country musigsimger who has just re-
leased her debut CD4s pﬁ ing a co{ t tour to promote it.
Her agent has present 'ﬂeﬁ{i@th two cit(ions: she can tour as
the ope-'ﬂri giact for Dcrnho e, a famous country band that
i ti tional tour, this year, or she can be the solo

r home rggi'on. Using the facts below, write
you argue for one option over the other
lowing two ‘criteria:

to build a large and loyal fan base.

e Barnes wénts to b?in writing new songs for her next CD.

Downhonfle is scheduled to perform in over 100 far-flung cities
in 8 months} playing in large arenas, including sports stadiums.
This ambitious schedule would take Barnes far away from her
home recording studio, where she prefers to compose.
Downhome’s last concert tour was sold out, and the band's latest
release is a top seller. Many concertgoers at large arenas skip the
opening act. But it is possible that Barnes would be invited by
Downhome to play a song or two with them.

The solo tour in her home region would book Barnes in 30
cities over a 4-month period, including community theaters
and country-and-blues music clubs, a few of which have repu-
tations for launching new talent. These venues have loyal
patrons; most shows are inexpensive and are well-attended,
even for new talent. Barnes would have a promotion budget
for her solo tour, but it would be far smaller than that for
Downhome's tour.
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Example 2

The City of Ridleyville must decide whether a decommis-
sioned military base now owned by Ridleyville and located on
its downtown riverfront should be developed as a business
complex or converted to park and open space. Using the
facts below, write an essay in which you argue for one option
over the other based on the following two criteria:

e Ridleyville wants to address a growing budget deficit.
e Ridleyville wants to increase the amount of parkland and

open space in the city, especially in the downtown
riverfront area.

Ridleyville is considering selling the property for development
as a business complex. Through tax incentives, the city could po-
tentially preserve a small portion of the property as open space.
The business complex would generate substantial tax revenue
from the new businesses that would locate there. Before it real-
izes any of these revenues, Ridleyville would need to pay for a
variety of costly infrastructure improvements, and these revenues
would be partly offset by ongoing costs for incha d municipal
services. The city would likely incur greater en ental
cleanup costs converting the base to a busin lex than
converting it to a park. ?

Ridleyville has no parks on its e_xtan e river ge which
is otherwise developed, and no paks in its dowintewn area.
Several corporate sponsors are wxg to underwrite the cost
of converting the property into Barkland. THese corporations
are also willing to contribliteftoward (*gomg operating costs.
The park could host rev, nue; enerating events like concerts
and the'popular ”Tast{;f Ri ville,” an annual food festival.
Fees c be'charged'for bg&ylaunching. These combined
rev uld enable th rk to pay for itself.

-

&



